BB | L—RNo EHME R EiEh | RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
1 280 |#% YAY A94F B | RE#A 1 1 1
2 64 |58 47+ Eoax 5 | =Em# 2 2 2
3 220 | {ERE Hbo 4% 5 | =Em# 3 3 3
4 502 | &M@ EVAH FrE09 E:] HRHE 4 4 4
5 221 |#£EF ¥/ hZXa¥x 3 | HEm# 5 5 5
6 1001 |EFA TAX ToT 3| B5FR 10km 5 F40~ 5475 1 6 1
7 256 |&& REXEL FEY 5 | HE# | 035 10km P F E 4% ~ 395% 6 7 6
8 480 |EH iF— SY¥ VavAF 5 | =m# 7 8 7
9 1341 |2 #HHE T shin E:] FER 2 9 2
10 148 | KW HKE x0F 872 5| FER 8 10 8
11 260 |8k EE AX¥ BY/Y B | #z)IE 9 11 9
12 393 |%H0O M4 JUF ot B | AR 10 12 10
13 475 |All FT JLYT EFaFE B | #FIR 11 13 11
14 471 |IE BR IYEL YREQ 5 | =m# 12 14 12
15 453 |#kM@E & XRE FIHX E:] HEHE 13 15 13
16 496 |BE Flz ENT bia B | BFE 14 16 14
17 26 [ SEHM AN ¥RHX 3 | #RIR 2 15 17 15
18 1384 |ILE B> Y4 3vax 3| B5FR 10km 5 F40~ 5475 3 18 3
19 365 |thiE &[5 FHNY Tani 2| FER 10km B F B # ~ 3958 16 19 16
20 213 |{EAR {EAER Bz posay 5 | =m# 17 20 17
21 359 |hH % FHhE 7L E:] HEHE 18 21 18
22 61 | 5B BEER AREEX NLEF 5 | ®mEm# 19 22 19
23 38 |AR B A2 FAX B | #z)Ig 2 20 23 20
24 1337|548 M 2Fn\y Yay ER RSN 10km P F40~545% 4 24 4
25 1272 |chM % FHE NTA 2| BFR 10km 3 F40~545% 5 25 5
26 202 |ZERE R YAbY ar Ry 5 | FER 10km B F B 1% 21 26 21
27 40 |\l Bt 13X TIY E:] HEHE 10kmB F 22 27 22
28 84 | AM ¥5 A% o0 5| FER 10km B F 1~ 395% 23 28 23
29 1538 |/h& BEFE = kSl = 2 3 | #RIR 10km B F558% UL 1 29 1
30 384 [iRE FiT ¥y EFaX 5| Hm# 10km B F K ~395% 24 30 24
31 1195 |FEH i LIy Eny 5 | #RNR 10km 3 F40~54i% 6 31 6
32 207 |3RA Fith Yh4Y hvv 5 | =m# 10km 5B F E % ~ 307% 25 32 25
33 118 |l FHi HEXT ETH E:] HEHE 10km 53 F E % ~ 307k 26 33 26
34 1145 |/NG BB avx hvs 5| FER 10km P F40~545% 7 34 7
35 337 |l SRR T5¥< Ayaw B | BFE 10km B F B 1R ~ 395 27 35 27
36 1377 |lio YIFF =ar 3| FER 10km 5 F40~ 545§ 8 36 8
37 111 [As ER HhI4 IHTE 5| FER 10km 3 F40~54i% 9 37 9
38 1194 | Tt &2 JEEL EOaX 5 | #RNR 10km 3 F40~545% 10 38 10
39 410 |HE (AR EHLO= Fraay B | #F)IE 28 39 28
40 314 |WFE % BFNT IHIL 5 | ®mEm# 29 40 29
M 387 |Ht+ ME /A3 hXEn 3| FER 30 41 30
42 371 |l B FhY< 74 B | H5FR 31 42 31
43 187 |k @A kY gD B | ®E# [ 038 32 43 32
44 1186 |45f@ &= SIAND EO7F 3 BER 10km 5 F40~54i% 1 44 11
45 191 [/ JgsE akys IYTI B | #F)IE 10km B F 245 ~ 395% 33 45 33
46 1249 |#80 %70 B=5F ALHZX 5| FER 10km P F40~545% 12 46 12
47 1354 (Al B TN AYL B | HRH 10km B F40~545% 13 47 13
48 361 |h& X FThHhEA I 3 | HE# | 34 48 34
49 205 |ZERE EEH Y4y EO7X E : 35 49 35
50 1239 |ER $#E SH3 SXED 5 | FER 14 50 14
51 194 |tk —& a3y hXFE E:] HEHE 36 51 36
52 72 |\A HE DFXYR BANIL B | FEE 37 52 37
53 430 |BRE FEWR 234 3AvFY B | BFE 38 53 38
54 156 |AFE # XK FhY 35| FER 39 54 39
55 467 |WAK jE— RYEL AVATF E 40 55 40
56 1006 %% KK THY AYL 5 | FER 10km 5B F40~ 545 15 56 15
57 1082 |[% IFiE Ah/ IYSF E:] HEHE 10km B F40~54% 16 57 16
58 1386 |IUA EH YIE B57/T 5 | ®mEm# 10km 3 F40~545% 17 58 17
59 531 [B)I HSB aAhT _BhAt 2| BFR 10km B F K ~ 395% 41 59 4
60 523 [ILMA X Y4 =23k 35| FER 42 60 42
61 511 |WLfE 0 YAH IHHX E 43 61 43
62 383 |iRE fHf RE¥Y oo 5 | =Em# 44 62 44
63 351 |5k& Ml FHAY vaL 5 | FER 45 63 45
64 144 )i i ATV a9F 5 | ®mEm# 46 64 46
65 1119 A e HIEL EOaF 3 | #RIR 10km 5 F40~54i% 18 65 18
66 1293 |:AR 7 b &M == 2| F=E#p | 10km 5 F40~ 545§ 19 66 19
67 16 |FWAYyye 9700 |ZIAYvYq GrLA | B | B | 10km 5 F E % ~ 397% 47 67 47
68 539 |#i# @l EDar = v 5 | #RNR 10km 5B F E % ~ 307% 48 68 48
69 1141 |FITH #h JIJF 3L E:] FER 10km B F40~54% 20 69 20
70 1142 |58 BUA bl e 22 5 | ®mEm# 10km 3 F40~545% 21 70 21
7 249 |E3 3 V54 a5h 5| FER 10km B F K ~ 395% 49 7 49
72 1244 |HSB fH— BFH DavAF E:] FER 10km 58 F40~54i% 22 72 22
73 310 |ME {A AU YR E = 50 73 50
74 368 |4t EH# FTHLS Lo¥ 5 | #RNR 51 74 51
75 363 |hE [ Fh=Y shEn 5 | FER 52 75 52
76 66 | AAER 477F #4vay 5| Hm#p 3 53 76 53
77 1264 |EFH fHf FAA PRy 3 | HEm# 10km B F40~ 54 23 77 23
78 1155 |E9dt 5 a4 NTA E:] BER 10km B F40~54i% 24 78 24
79 285 |SH BX BHE 745 B | #FIR 10km 5 F E % ~ 307% 54 79 54
80 193 [Ai5 f2— a8 HuAF 5 | =Em# 10km 5B F E % ~ 307% 55 80 55
81 1280 |t FB FTHhLS boA 5 FER 10km B F40~54% 25 81 25
82 1536 |/NR BAR (XS 7¥ED 5| FER 10km B F558% UL 2 82 2
83 1042 |87 BRI AL BHh3Y B | #z)Ig 10km 5 F40~54i% 26 83 26
84 427 |BRi% A oY) aAYRT 3| B5FR 56 84 56
85 528 |IUA SF YIEF TEIL B | ®RE# 57 85 57
86 206 |EiE A BHNY ETINL 5 | =Em# 58 86 58
87 1235 |BH8 BE Bhny XHYED 5 | =Em# 27 87 27
88 2074 |&F IEF A% Para %Z | mEIg 1 1 1
89 1204 |#1 EA AXYY IHEL 3 | HEm# 28 88 28
90 167 |ZEE f0 oIR8 HhZX¥ 35| FER 59 89 59
91 468 |¥AA TYEL Pay 5| FER 60 2 60
92 8 RiE —R FEF HAXTI 5 | FER 61 91 61
93 158 | A/ BT ¥/9F /Jax B | #F)IE 62 92 62
94 1050 |Fik% 18 YIS Yy B | #E)IE 10km P F40~545% 29 93 29
95 1345 |#N3F =— VA A9AF E:] FER 10km 5 F40~54i% 30 94 30
9 498 FH £ AHAY 5 | HEH 63 95 63
97 476 Al B2 QLT ILaFk 5| FER 64 96 64
98 186 |'RE B aHZ Yam 5 | #RNR 65 97 65
99 2282 |#ET XN E)T IR Z | FEZ#H 10km# F B ~ 3958 2 2 2




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
100 1294 |1RAK FEiE 2ER YahY 2| BFR 10km 5 F40~ 5455 31 98 31
101 339 |EE e MY FoY 5 | FER 10km 5B F E % ~ 307% 66 99 66
102 356 |hE mE4 FThY= av% E:] HEHE 10km 53 F E % ~ 307% 67 100 67
103 1140 |io% 8 av/ 3/ B | HR#H 10km P F40~545% 32 101 32
104 1089 |8l HE AUY% RS 2| FER 10km B F40~ 545 33 102 33
105 549 |0 I JEFR B 3 | Hm# 10km B F 1 ~ 395% 68 103 68
106 250 |BFE ##& 54y FAX 5| FER 10kmB FEHIL~30%% | 69 104 69
107 1362 | =i & SYF a5h 5 | =m# 10km 5B F40~ 545 34 105 34
108 1154 /iR B Yy FEAX E:] FER 10km P F40~545% 35 106 35
109 1276 |E f@ FHhNG 87 5 | ®mEm# 10km P F40~545% 36 107 36
110 470 |WK 1§ <YEL EOY 3 | HEm# 10km 3B F B4 ~397% 70 108 70
111 469 |WA #h TYEL FTYY B | Em# 10km B F K ~395% 71 109 71
112 505 |/\B IEE Yoz 2/ B | RE#A 10km P F E 4% ~ 395% 72 110 72
113 20 |ihpH MRE 175 FINTE 5 | =m# 10km 5B F E % ~ 307% 73 111 73
114 210 |3|RA N— YHEL a9AF E:] HEHE 10km 53 F E % ~ 307% 74 112 74
115 1039 |k Feit Ak SvED 5 | ZHR 10km P F40~545% 37 113 37
116 185 |BF 5 a5 3377 3 | #RIR 10km B F E 1% ~ 395 75 114 75
117 1326 |iRiR R IhYT AXS 5| FRR 10km B F40~ 547 38 115 38
118 309 |MIE gE— BYE A94F 5| FER 10km P F E 4% ~ 395% 76 116 76
119 240 |7EK X VIR AT A 5 | =m# 10km 5B F E % ~ 307% 77 117 71
120 1137 |RE FH 291835 ETHX 5 | FER 10km P F40~545% 39 118 39
121 1390 | #5FE #3 AVAh VTXR B | FEE 10km P F40~545% 40 119 40
122 1045 | H15 R 479X 3L F4 2| FER 10km B F40~ 545 41 120 41
123 1510 | &iE & ATH¥ AYL S | FE# | 04225 |10kmBF55HULE 3 121 3
124 1115 |5 {4 HIE _TUF 2 | #ENE | 04227 |10kmBF40~545% 42 122 42
125 1573 |#R% i wY/ AL 5 | FER 0:42:29 | 10kmBF5588 LA E 4 123 4
126 547 |iED %K IEFR Bo% E:] HEHE 0:42:32 | 10kmB F &4~ 3988 78 124 78
127 1078 |/MNER £+ AHAHIS b3 5 | ®mEm# 0:42:33 | 10km 3 F40~545% 43 125 43
128 1164 | ZEik M= YAy HaF 2| FER 0:42:34 | 10km 5 F40~545% 44 126 44
129 348 | MEE F— FALY 2avAF 5| FRR 0:42:35 |10kmBF &1 ~ 3958 79 127 79
130 1586 |EM@ H¥E AvAh Avax B | RE#A 0:42:36 | 10km B F55m% LA E 5 128 5
131 1128 |k #B XL5 RAS B | FWE 0:42:37 | 10km B F40~545% 45 129 45
132 128 |&F BE— hFx3 tA4F E:] FHER 0:42:39 | 10kmB F =42~ 3958 80 130 80
133 1364 |7<IE HRARR LyHx ars0y 5| FER 0:42:42 | 10km 3 F40~545% 46 131 46
134 251 |%BA 96 SUhA IYEH 2| FER 0:42:43 | 10kmBF B~ 395 81 132 81
135 1333 |BEEA —i 258 hXF E:] BER 0:42:45 | 10km B F40~545% 47 133 47
136 1560 [T 7iE —v&  4En B | RE# 0:42:45 | 10km B 55 LA 6 134 6
137 123 |pogk =F hbo EL 5 | ZHR 0:42:46 | 10kmB P& 4%~ 3988 82 135 82
138 1392 |0 fdHie AVHE /Jax E:] HEHE 0:42:48 | 10km 5 F40~545% 48 136 48
139 330 |+R fME YF¥ HZXkD 5 | ®mEm# 0:42:51 | 10kmB F &% ~395% 83 137 83
140 2564 [/\E SEiE avx Y Z | FEE 0:42551 | 10km& F40~545% 1 3 1
141 1544 13RO & YhTF FHL 35| FER 0:42:55 | 10km B 555 LAE 7 138 7
142 1134 [ARE EL oiRE AL 8T B | RE# 0:42:56 | 10km 53 F40~545% 49 139 49
143 1060 |HEA BHAI T/EN AV 5| FER 0:42:57 | 10km 5 F40~545% 50 140 50
144 1030 |FEE B A2Ih TX5 E:] HRHE 0:42:57 | 10km 5 F40~545% 51 141 51
145 2292 |WWEH Hi& YRE T Z | EFR# 0:42:58 | 10kmE FEH~395% 3 4 3
146 2035 |&M BEF 474 233 Z | BRNE | 04258 [10kmEFEH~395 4 5 4
147 288 |SiRE B2 ShFHI bEIX 2| B5F8 0:42:59 | 10km B F &1~ 3958 84 142 84
148 278 |#F)N 2 BhET a%h | BFER 0:4259 |10kmBFE#~398% | 85 143 85
149 1104 | hngk %% hh 7Y 5 | =Em# 0:43:00 | 10km 5 F40~545% 52 144 52
150 1398 |&H % AL THL E:] HEHE 0:43:00 | 10km 5 F40~545% 53 145 53
151 1526 | poigk 6% HbY EO7F B | BR[| 04302 |10kmBE55LE 8 146 8
152 2633 |85 TFHS 2997 FiNL Z | EF#M 0:43.03 | 10km& F40~545% 2 6 2
153 13 |#| g 738 A94FO% B | FER | 04303 |10kmBFEK~395 86 147 86
154 522 |ILM B%4E e i B | XA 0:43:11 | 10kmBFEHR~395% 87 148 87
155 1052 |FEA)I iE DEAD EOY 5 | =Em# 0:43:12 | 10km B F40~545% 54 149 54
156 2658 |ty thF YIHZ a3 %Z | ER# 0:43:13 | 10km& F40~545% 3 7 3
157 1227 | &5 Rfd Bhny TxIT E:] FER 0:43:13 | 10km B F40~547% 55 150 55
158 501 |#&% 2 Y 3V 3| FER 0:43:15 | 10km BB ~395% 88 151 88
159 1049 |+ R YI/ EQ7E 2| FEB | 04316 |10kmBF40~545% 56 152 56
160 2145 |85K #% AXE 3KY % | FER 0:43:19 | 10kmEX FE R ~395% 5 8 5
161 1207 |$hAk Shid RX¥ FyEn 5 | =Em# 0:43:20 | 10km 3 F40~545% 57 153 57
162 1275 |diE T FHNY B8 2| FES | 04320 |10kmBF40~54%% 58 154 58
163 14 |FES e T34 T2y B | FEE 0:43:20 | 10kmB F &% ~395% 89 155 89
164 268 |#hK FEHh AXE JaIRT 3 | HEm# 0:43:22 | 10kmBF B~ 395 90 156 90
165 2201 |WE FH e ) % | EF# 0:43:25 | 10kmEFEH~398% 6 9 6
166 1363 [AE {-F& LTNT ERY B | ®RE# 0:43:28 | 10km 5 F40~545% 59 157 59
167 1314 | BGH SRR E9S boA E:] FER 0:43:30 | 10km % F40~54% 60 158 60
168 1083 MR Ri- AHhYR LRER E:] FER 0:43:30 | 10km 5 F40~545% 61 159 61
169 232 |4E[R WE H$95 EOax S | ®=E# | 04333 |10kmBFER~395F 91 160 91
170 465  |¥AfE 4F5E XYLS FATHY B | Hm# | 04335 |10kmBFER~395F 92 161 92
171 273 | B ¥ IYY g2 BB 0:43:36 | 10km BF K ~395% 93 162 93
172 1528 |@3t & HA BhY 2| BFES | 04341 |10kmBFE5FLIE 9 163 9
173 264 |8HK H RX¥ zabk 5 | =Em# 0:43:46 | 10km B F & 4%~ 3988 9% 164 94
174 143 [JIERWL o HAINZYR HARED E:] HEHE 0:43:47 | 10kmBFEHR~395% 95 165 95
175 171 |EH BE )8 Yhy B | HR#& 0:43:48 | 10kmB F &%~ 3958 96 166 96
176 1307 |4k Fih NYY vag 3 | HEm# 0:43:49 | 10km 5 F40~545% 62 167 62
177 1129 |APY TEH XamEy IHX E:] FER 0:43:50 | 10km B F40~547% 63 168 63
178 252 | Eth YyhD IALFY B | HE)IE [ 04358 |10kmBFER~395% 97 169 97
179 2200 [hE BF FTHhY= 2H%a % | BFR 0:43:58 | 10kmK F R ~395% 7 10 7
180 1075 |Ff BEA Ah YR/ E:] HEHE 0:43:59 | 10km 5 F40~545% 64 170 64
181 305 |YrE et o SV 5 | ®mEm# 0:44:02 | 10kmB F &%~ 3958 98 171 98
182 221 |{hBE R by FoT 3 | HEm# 0:4403 | 10kmBFEH ~395% 99 172 99
183 364 |KFH E= FH/ a9 g2 BB 0:44:03 | 10km B FH 1% ~39i% 100 173 100
184 442 |3 BX R FETS B | ®RE# 0:4403 | 10kmBFEHR~395% 101 174 101
185 67 [iEK MR YIF AYRY 5 | =Em# 0:44.04 | 10kmBFHR~395% 102 175 102
186 1163 |7k HA HAbY IHYE E:] FER 0:44:05 | 10km 5 F40~545% 65 176 65
187 17 |A% A h3) YT B | BFR 0:44:09 | 10kmB F &% ~395% 103 177 103
188 168 [ AMRE M ki =Nk B | FESE 0:44:11 | 10kmB F &R ~395% 104 178 104
189 1274 |h# 85 THhE= IHT7H E:] R 0:44:12 | 10km B F40~541% 66 179 66
190 235|152 399 LAY IYTE B | HFNE [ 04414 [1kmBFER~395% 105 180 105
191 2 |\BE BE A¥TH EFAX 5| H5FR 0:44:14 | 10km B F B2~ 3988 106 181 106
192 1229 |B18 B= BHANY T B | #E)IE [ 04417 |10kmBF40~545% 67 182 67
193 1287 |dfik #ER Fix Sht B | BFR 0:44:22 | 10km 5 F40~545% 68 183 68
194 1353 |AA # LY kL 2| FEE | 04423 |10kmBF40~545 69 184 69
195 312 |ME{t fth 440 REY B | HEH 0:44:24 | 10kmBF B4 ~ 3958 107 185 107
196 1165 |#k{H 143 HYI¥ bOYy 2| FE8 | 04425 |10kmBF40~545% 70 186 70
197 493 |98 Eif EFYX 24 5 | =Em# 0:44:25 | 10kmB P& 1%~ 3988 108 187 108
198 345 |49 2% LEL TIY 5 | FEZ# | 04425 |10kmBFEHE~308 109 188 109




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
199 199 [/vig F{- a3+ 7EELR | BFER 10km P F E 4% ~ 395% 110 189 110
200 374 |EIiR e F/N EQaF 5 | FER 10km B F B 1%~ 39i% 111 190 111
201 110 |EH B— AYEY AVAF E:] FER 10km P F40~545% il 191 71
202 1319 | FH =5 £S5/ ax/7 5| FER 10km P F40~545% 72 192 72
203 1238 |SE B— BHNT YaoAF E:] BRH 10km 5 F40~54i% 73 193 73
204 176 [/NR ESR a4X3 Y g2 BB 10km P F E 1% ~ 397 112 194 112
205 1324 |G 5% Eot ¥3% 2 | HAE 10km 5 F40~ 5455 74 195 74
206 2657 | RA ##K YREL EY3 %z | BFER 10km& F40~ 5455 4 11 4
207 1339 |tE — PIIZAY 2 V. == E:] HEHE 10km P F40~545% 75 196 75
208 327 |EB #EX 8Y TIE B | HR#H 10km 5B F E 4 ~ 39i% 113 197 113
209 152 |EZIE 3 X527 TIY 2| FER 10km B F E 1 ~ 39i% 114 198 114
210 1311 |Rfp &|/= INSGFH FoID E:] BER 10km B F40~547% 76 199 76
211 358 o Fhoaw bEaX B | RE#A 10km P F E 4% ~ 395% 115 200 115
212 1097 |#A # HYITE IHIL 5 | FER 10km 5B F40~ 545 77 201 71
213 85 | K& AR AAE= 2HF% E:] HEHE 10km B F 245 ~ 395% 116 202 116
214 2098 |ZF F# 291835 Fh Z | BER 10km & F 1~ 395% 8 12 8
215 1038 | fRE S Ab ETA 3 | HEm# 10km B F40~ 54 78 203 78
216 405 |IF fB—Ep NS FuAFOY 3 | Hm# 10km B F 1% ~ 395% 117 204 17
217 133 |8BA 580 HhI5% shEn B | RE#A 10km P F E 4% ~ 395% 118 205 118
218 1158 | 7Rk sh—EA ALY Tr4FaY 5 | #RNR 10km 5B F40~ 545 79 206 79
219 1554 |#& BE—ER YNFE FrAFaY E:] FER 10km B F55% LLE 10 207 10
220 87 | kF Fih A4=Y bEED 5| FER 10km 5B F E 4 ~ 39i% 119 208 119
221 1317 | FH #RE £S5/ FYYR B | HRH 10km B F40~ 545 80 209 80
222 1087 |43 m% AXF P5EH 5| FRR 10km P F40~545% 81 210 81
223 1213 85K #th RX¥ FYY 5| FER 10km 3 F40~54i% 82 211 82
224 1208 |$hAK F AXE AH)L 5 | #RNR 10km 5B F40~ 545 83 212 83
225 1182 |EH fBR DIFRY YREH £ FER 10km P F40~545% 84 213 84
226 1157 |ifiigk SHEp ARy FIE 5| FER 10km P F40~545% 85 214 85
227 520 |WLE EHE e )] 3 | #RIR 10km B F E 1 ~ 39i% 120 215 120
228 1199 |#R TEF Uk ZHhY 5| FRR 10km B F40~ 54 86 216 86
229 1306 |# F08h Ny HZeo B | RE#A 10km 3 F40~54i% 87 217 87
230 49 [0 35 ATIF 195 5 | =m# 10km 5B F E % ~ 307% 121 218 121
231 190 |4 A Tk YamRy E:] HEHE 10km 53 F E % ~ 307k 122 219 122
232 1013 | Rk Hith FYEY XYY B | B5FER 10km P F40~545% 88 220 88
233 2185 [#IR 35% TIYH LT Z | BEIg 10km & FE# ~ 395% 9 13 9
234 535 |l EiE JavY IFTI 3 | Hm# 10km P F E 1% ~ 397 123 221 123
235 1205 |#1l BE— REYT Ya(F 2 | #mEng 10km 5 F40~545% 89 222 89
236 1016 |ithA 44 A€k 73E0 5 | =Em# 10km 5B F40~ 545 90 223 90
237 530 |H)I| A aAHhT TavRi E:] BER 10km B F 245 ~ 395% 124 224 124
238 1203 |&A& HE AXEL X35H 5 | ®mEm# 10km P F40~545% 91 225 91
239 546 |3 IEFR BhY 3| FER 10km B F E 1% ~ 395 125 226 125
240 1184 B85 3vax 3 | Hm# 10km P F40~545% 92 227 92
241 424 |{EH Feth 295 ayx B | FER 10km P F 245 ~ 397% 126 228 126
242 316 |@H$B BNy 8FH varvRy 5 | #RNR 10km 5B F E % ~ 307% 127 229 127
243 1567 |IEF B— EOA 2av4F E:] FER 10km B F558E UL 11 230 11
244 1343 |4 (5% R /93 3 | #ENR 10km P F40~545% 93 231 93
245 1007 |BR4E #2 FYw Eoax E:] HEH 10km 5 F40~54i% 94 232 94
246 2162 | B8 &4 BhIBYy Sk x FEE 10kmZ F 4% ~ 397 10 14 10
247 110 |#4M B A4 EOox B | FER 10kmB FEHIL~305% | 128 233 128
248 1572 | 2% #% w/ FYAY 5 | FER 10km B F565% LLE 12 234 12
249 2611 |24 BE YLD HFT % | HAR 10kmZX F40~545% 5 15 5
250 385 |iRIF Wi *Yh bEED B | HR#& 10km 5B F E 4 ~ 39i% 129 235 129
251 1124 |BE —% *3U% HXTS 3 | #RIR 10km B F40~ 545 95 236 95
252 2240 |IRE FF Ens HZa % | FER 10km & F 1 ~ 393 11 16 11
253 1133 |FEM #§%2 Jhs vRax 5| FER 10km 3 F40~54i% 96 237 96
254 483 |=H R¥E SY8 av4 5 | =Em# 10km 5B F E % ~ 307% 130 238 130
255 321 |#@F Eih a%a 8Yx E:] FER 10km 53 F E 4% ~ 307% 131 239 131
256 456 |¥A3 FnEd VA hRXTH B | BFE 10km 5B F E 4 ~ 39i% 132 240 132
257 1505 | Rk 81 Ak BH/Y B | ZHR 10km B F558% UL 13 241 13
258 1335 |BEIR #85 Y95 Tt 2| HRE 10km 5 F40~ 545§ 97 242 97
259 548 |0 @R DEFR B B | #FIR 10km P F E 4% ~ 397% 133 243 133
260 300 |%0 B5E8 J9F hIT7X 5 | =Em# 10km 5B F E % ~ 307% 134 244 134
261 2550 |&MH XHEF hxE Sk %Z | ER# 10kmZ F40~545% 6 17 6
262 1516 |HE #% AT ShA B | HR#& 10km B F55% LLE 14 245 14
263 1131 | CDEAMR %P9 XUTHTNE BHE 3| FER 10km P F40~545% %8 246 98
264 1135 | &fF i I5EF BI%E 3 | Hm# 10km P F40~545% 99 247 99
265 92 |kt EF AAINYY FoD B | ®RE# 10km P F E 4% ~ 397% 135 248 135
266 2228 |fRAR F INyRY) TA S BRHD 10kmZ F E 4% ~ 395% 12 18 12
267 284 |@#2 T BHRX HZXax 5 KBRAT 10km 53 F E 4% ~ 307% 136 249 136
268 1181 |HE A aAoF 5| FER 10km 3 F40~545% 100 250 100
269 488 |mH {#— Lhq EODX 3| FER 10km B F E 1 ~ 39i% 137 251 137
270 2533 |K# HTF AA%= FIa % | FER 10km & F40~547% 7 19 7
271 2270 |kKF# Hi% Skt 2as %X | EFR# 10kmZ F 4% ~ 397% 13 20 13
272 379 |FEH R =T TeT 5 | FER 10km 5B F E % ~ 307% 138 252 138
273 11 Dk G 7N PTE E:] HRHE 10km B F 245 ~ 395% 139 253 139
274 1086 |/MII HERE AHD YL 5 | ®mEm# 10km 3 F40~545% 101 254 101
275 550 |8 E+ 78+ AYER B | HRH 10km B F E 1% ~ 395 140 255 140
276 1284 |l F13 Th¥=< HhXIY E:] FER 10km 58 F40~54i% 102 256 102
277 386 |iRA 3% RER YRL B | ®RE# 10km B F E 4% ~ 397% 141 257 141
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282 230 |iBM f£ $5 74 3 | Hm# 10km B F 1 ~ 395% 145 262 145
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293 506 | &% fRARR o Frsaag 3 | HEm# 10km B F E 1% ~ 39i% 149 271 149
294 447 |BiE #%F I Faund 3 | Hm# 10km P F E 1% ~ 397 150 272 150
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299 513 [iliAd H& YRIF ShY 5 | =Em# 10km 5B F E % ~ 307% 155 277 155
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328 173 |Z@ ® oohT BT B | FER 10km B FEHIL~305% | 165 300 165
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351 1318 |8 #— £S5/ aA94F 35| FER 10km P F40~545% 128 319 128
352 1338 |#4k 5EEA ILEF HhYT* B | RE# 10km 3 F40~54i% 129 320 129
353 2517 |{PBk % AbY T4 X | ER# 10kmZX F-40~ 545 13 33 13
354 1228 | BH8 B A VS B | #F)IE 10km B F40~54% 130 321 130
355 81 |XAR FfE AR 294y 5| FER 10km B F Z1% ~ 393% 176 322 176
356 116 [2A fiFE HEE ayng 3 | HEm# 10km B F E 1% ~ 395 177 323 177
357 207 |EH8 EE BANS IHAS 3 | Hm# 10km B F 1 ~ 395% 178 324 178
358 1257 [P 3hRE TIHE EDsh B | FER 10km 3 F40~54i% 131 325 131
359 303 |WT HE B9F bEED 5 | #ER 10km 5B F E % ~ 307% 179 326 179
360 1100 |B% iF—ER HY Tar4Fay E:] HEHE 10km B F40~54% 132 327 132
361 1156 |B9M Fif avs ben B | BFE 10km 3 F40~545% 133 328 133
362 263 |86k E AX¥ <abk B | BFE 10km B F E 1 ~ 39i% 180 329 180
363 28 |3t EAR 474 Zyay 5| W 10km B F K ~395% 181 330 181
364 196 [/vbk % vy AhY B | ®RE# 10km P F E 4% ~ 397% 182 331 182
365 441 |#E BR wYH s5ED 5 | FER 10km 5B F E % ~ 307% 183 332 183
366 537 |#BA EEi AVHA SFA E:] FER 10km 53 F E 4% ~ 307% 184 333 184
367 397 |R&BH* BF NBA Yaondg 5| FER 10km B F Z1% ~ 393% 185 334 185
368 1085 |/MI| EX AHI BIA B | BFE 10km P F40~545% 134 335 134
369 1578 |iE AKX SYbS AVA 35| FER 10km P F558E LU L 17 336 17
370 1071 | K% 2 A4/ Enax 2| BE8 10km 5 F40~ 5455 135 337 135
371 429 |BRE HE V8 Lamd 5 | =Em# 10km 5B F E % ~ 307% 186 338 186
372 108 |/vE & AHD sh E:] FIFR 10km B F 245 ~ 395% 187 339 187
373 1080 |[EMA # AHhE HhL 5 | ®mEm# 10km 3 F40~545% 136 340 136
374 1148 /NG T8 avY FTE B | BFE 10km P F40~545% 137 341 137
375 2521 |53 BERk 434 YRT % | FER 10kmZ F40~ 545 14 34 14
376 52 |{FEE & ALY YhY B | ®RE# 10kmSB FEHIL~305% | 188 342 188
377 2205 |ty KD FTHhLT aFx X | ER# 10km & F E % ~ 307% 21 35 21
378 270 |7ERE fB— AEY FoT E:] FER 10km B F 245 ~ 395% 189 343 189
379 1562 |EA Rk NTES YA 5 | ®mEm# 10km B F558% UL 18 344 18
380 135 | b F HELT Day 3 | HEm# 10km B F E 1 ~ 39i% 190 345 190
381 292 |8 kB BhNy FARY 3| B5FR 10km B F 1 ~ 395% 191 346 191
382 195 |k —3& 3y HRY B | FER 10km B F E 4% ~ 397% 192 347 192
383 1325 |FEE FRA Eo4 YRER 5 | =Em# 10km 5B F40~ 545 138 348 138
384 269 |7BHE RIK RE ¥ZREO E:] HEHE 10km 53 F E 4% ~ 307% 193 349 193
385 479 = AR IY4 aaoYy EE 10km B F &1 ~395% 194 350 194
386 225 |{kBE FEkE by SYEH 3 | HEm# 10km B F E 1 ~ 39i% 195 351 195
387 2532 | KM FHRF A% FH¥2 % | FER 10kmZ F40~ 545 15 36 15
388 512 |iid k4 XYRTF FARY B | RE# 10kmB FEHIL~305% | 196 352 196
389 2071 [fnpk #F hb Fra X | ER# 10km & F E % ~ 307% 22 37 22
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392 1172 [l 1= b e A W 2| FER 10km B F40~545% 140 355 140
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394 1521 |mEs —8 hiix hXA ERECEIN 10km B F55RE LA 20 357 20
395 1091 /N BBIA A/ hveno E:] ERER 10km 3 F40~545% 141 358 141
396 378 [F7E & —YR S/ 5| FZH 1OkmBF R ~305% | 108 359 198
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560 1201 |ER X AHIZ Th E:] BER 0:51:45 | 10km B F40~54% 195 491 195
561 2619 |$iF %F =4K 3% % | BE# | 05146 [10km&KF40~545F 29 70 29
562 2544|1213 ehiE HSYA ah %X | EFR# 0:51:47 | 10km& F40~545% 30 bAl 30
563 1535 |/t ®B a4y YEAE 5 | =Em# 0:51:50 | 10km B 55 LAE 32 492 32
564 1369 |#HK T EFFA T E:] HEHE 0:51:50 | 10km 53 F40~545% 196 493 196
565 2152 |EH MF VHi hZa Z | EFR# 0:51:52 | 10kmE F & ~395% 42 72 42
566 457 | WIE VAL BhFA 3| FER 0:51:53 | 10km B F &1 ~395% 266 494 266
567 2304 |iAK =i )% ST % | EF# 0:51:53 | 10km& P&~ 395 43 73 43
568 1323 |5#8 RS Eot AYs 2| F¥8 | 05153 |10kmBF40~545% 197 495 197
569 461 |WAR BX YT A9% B | HENE [ 05153 [10kmBFER~398% 267 496 267
570 2101 |28 AF x4y ¥ %Z | ER# 0:51:55 | 10km KX F &R~ 395 44 74 44
571 1201 |FR B =L L5 w3k 2| FEB | 05158 |10kmBF40~54% 198 497 198
572 413 |A% #Fx E/ 3y4 B | #E)NE | 05159 |10kmBFEHR~398 268 498 268
573 2143 |#6K FF AX¥ >aya % | EF# 0:51:59 | 10km& P&~ 395 45 75 45
574 2297 |IhA B YES V7T % | EHA | 05200 [10kmkFEK~395 46 76 46
575 2097 |%4 HEF 274 =Y3 % | FER 0:52.01 | 10kmE F R ~395% 47 77 47
576 283 |=A B¥ BHY5 YRTX B | #E)IE [ 05201 |[10kmBFER~395 269 499 269
577 1514 | kiR H# AAvH 4D B | HR#& 0:52:02 | 10kmBE555 LAE 33 500 33
578 357 |hE & FTHY= 9410 B | #F)IE | 05203 |10kmBFEHR~398 270 501 270
579 2149 |P9% BF #EEY bED % | HAR 0:52.04 | 10kmEFEH~398% 48 8 48
580 1245 |Mh FRig BFh YRA % | Hm#E [ 05205 |10kmBF40~545% 199 502 199
581 1237 | B FE— BHINXY 2304F E:] BER 0:52:10 | 10km$B F40~54% 200 503 200
582 2503 |®ili #2{RE F¥Y< F3T S FER 0:52:12 | 10kmZ F40~545% 31 79 31
583 2547 | fngE A% hbH EYT Z | EFR# 0:52:14 | 10km& F40~545% 32 80 32
584 1149 /NG 4% avw ea¥ B | w2 | 05215 |10kmBF40~545% 201 504 201
585 il EI#F $% YRE wHED 3| FER 0:52:19 | 10km B F &1 ~ 3958 271 505 271
586 2636 |HMA FF ) =] % | BEZE# | 05219 [10km&KF40~545% 33 81 33
587 2639 [$ET Y HYT ahY % | FEB | 05220 [10kmKF40~545% 34 82 34
588 164 |BE X XA 2984 E:] BER 0:52:22 | 10kmBF B ~395% 272 506 272
589 402 |fEA K#E NFER FARY EE 0:52:22 | 10km B F &% ~395% 273 507 213
590 1174 |#3F 4 $554 A48H 2| F=E#H | 05223 |10kmBF40~545 202 508 202
591 1040 |$PER SRR AbY YRUY S | BFE | 05224 |10kmEF40~545% 203 509 203
592 2147 |7A%k HE 244 <43 % | HES | 05224 [1okmkFEE~395% 49 83 49
593 244 | TH A YEF 298 5 | =Em# 0:52:24 | 10km B F &4~ 398 274 510 274
594 1196 |88 TFHS 2OfAx IHHY 5 | FE# | 05225 |10kmBF40~545% 204 511 204




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
595 1327 |88 —& 2922 hRIY B | FER 10km 3 F40~54i% 205 512 205
596 1120 |#F HE hoA Fvka 5 | =Em# 10km 5B F40~ 545 206 513 206
597 97 |FM #— AhE VavAF E:] HEHE 10km 53 F E % ~ 307% 275 514 275
598 446 |BIF ER XIHE HhL 5| FER 10km B F 215 ~ 393% 276 515 276
599 2123 |{kBE (£5hH Yk NILA Z | FEER 10kmZ F 1% ~ 397 50 84 50
600 1002 |EAR o FAX /U% E:] R | 10km 5 F40~54i% 207 516 207
601 1376 [ifs £FE YHE AL TY E L 10km 3 F40~54i% 208 517 208
602 2626 |iHBE RIS ngJ <Y % | BEE#H 10km& F40~ 5455 35 85 35
603 1035 | piEh AV _HZ¥ E:] HEHE 10km P F40~545% 209 518 209
604 1524 | poigk B%4F b1 e =) 5 | ®mEm# 10km B F555% LLE 34 519 34
605 2506 |#AR FF Dl = % FER 10km%& F40~54i% 36 86 36
606 1400 |K#h % ARSI FTIT 2 | #ENA 10km P F40~545% 210 520 210
607 1236|518 BB BANY ¥RA 2| BFR 10km 5 F40~ 5455 211 521 211
608 51 |{Fk fRAER Ab oBa7y 5 | =m# 10km 5B F E % ~ 307% 277 522 277
609 1029 |B)I EE A3HhD AV)T E:] HEHE 10km P F40~545% 212 523 212
610 1109 |$kM #4 HhI¥ TIE E:] BER 10km P F40~545% 213 524 213
611 516 |IWF E& LB FIY 2| FER 10km B F E 1 ~ 39i% 278 525 278
612 521 (1WA Hth ¥ vk 5| mE# | 10km B F K ~395% 279 526 279
613 2153 | K¢ % 2439 59 % | FER 10kmZ F 4% ~ 397% 51 87 51
614 43 |R HE AXS ZHED 5 | =m# 10km 5B F E % ~ 307% 280 527 280
615 2018 |BME % A5 FES % | BFR 10km & F E % ~ 397% 52 88 52
616 228 R A2 HNT E0ax 5| FER 10km B F Z1% ~ 393% 281 528 281
617 2545 |FfE BF heAH Fva % FIR 10km%& F40~54i% 37 89 37
618 1056 |#3M %EA IAE Ayay 3 | HE# | 10km P F40~545% 214 529 214
619 2163 | #MEF A% 133 % | FER 10kmZ F 4% ~ 397% 53 90 53
620 536 |1l (5 Javz 3Y 5 | =m# 10km 5B F E % ~ 307% 282 530 282
621 2667 |0 FEF I8FR Fha x| FER 10kmZ F40~545% 38 91 38
622 154 |dt#t Std X545 XHED 5 | ®mEm# 10km B F Z1% ~ 393% 283 531 283
623 1102 |hngE #04 hho hXA E:] BRH 10km 5 F40~54i% 215 532 215
624 554 |iEH) B— JEFN A9LF 3 | Hm# 10km B F 1 ~ 395 284 533 284
625 532 |#K A— Ja% 44F B | FER 10km B FEHIL~305% | 285 534 285
626 23 |fRIF HEith 14Ih ETY 5 | =m# 10km 5B F E % ~ 307% 286 535 286
627 2571 | FME #HRF YAF H3a %Z | ER# 10kmZ F40~545% 39 92 39
628 2195 | Mgk #F FALY a3 Z | BE)Ig 10km& FE# ~ 395% 54 93 54
629 1010 |XifF #B TIHA HhZXA E:] BRH 10km 5 F40~54i% 216 536 216
630 2230 |7E8H ¥ NFD Day % | EF# 10km & F 1 ~ 393 55 94 55
631 56 |FEM FEE AFH ALEH 5| FER 10km B FEHIL~305% | 287 537 287
632 1061 |k [RB3 IVFY EO7X 5| FER 10km 5B F40~ 545 217 538 217
633 271 |EE Bt A4S By E:] FER 10km 53 F E % ~ 307% 288 539 288
634 179 |/NE Si¥ avw 3vEn 5 | Hm#p 10km B F &1~ 395% 289 540 289
635 418 |RE) @#E EOhY FAED 3 | HEm# 10km B F E 1 ~ 39i% 290 541 290
636 2632|183 EHTF 294 3%2 % | EF# 10kmZ F40~ 545 40 95 40
637 1502 |8 EALE FHHSR X4 2 | #mEng 10km B F55RE LA 35 542 35
638 2631 |FH HET ES% <Ya Z | ARIE 10kmZX F-40~ 545 M 96 4
639 1019 |GE#H# i 424 JUSF E:] HEHE 10km B F40~54% 218 543 218
640 182 |tkH &H J4 Eo¥x 5 | ®mEm# 10km B F &1~ 395% 291 544 291
641 2272 | =& WHY SYH¥E® ahy Z | EF#M 10kmZ FE 1% ~ 397 56 97 56
642 1290 |FE% & A == ) BB 10km 5 F40~54i% 219 545 219
643 277 |#F Hsh b zHEn B | RE# 10km B FEHIL~305% | 292 546 292
644 1509 |53 B®= AL oI 5 | =Em# 10km B F565% LLE 36 547 36
645 177__|&EH = VLT HRAX E:] BER 10km 53 F E 4% ~ 307% 293 548 293
646 2660 | £F YryA8 a3 Z | EFR# 10kmZ F40~547% 42 98 42
647 1218 |7E# SF (7 ZEL 3B EHE 10km B F40~ 545 220 549 220
648 1217 |EREH B A7 _hvea g2 L3 10km 5 F40~54i% 221 550 221
649 69 |KEX BE IVAT Ik | BFER 10km B FEHIL~305% | 294 551 294
650 2081 [JIE #F HI4 a2 Z | ARIE 10km & F E % ~ 307% 57 99 57
651 1383 |l Al%k Y IUF B | #F)IE 10km B F40~54% 222 552 222
652 1036 )il # AFHhT 2y B | BFE 10km 3 F40~545% 223 553 223
653 274 |B§O % BRTF ST 3 | HEm# 10km B F E 1 ~ 39i% 295 554 295
654 1116 |IA & hIF BhY E:] FER 10km 5 F40~54i% 224 555 224
655 1014 |7 BE A4 FYEa 5| FER 10km 3 F40~54i% 225 556 225
656 45 |fFE & A% YbL 5 | FER 10km 5B F E % ~ 307% 296 557 296
657 2051 | K% FE A4/ F=5 %Z | ER# 10kmZ&Z F 245 ~ 397% 58 100 58
658 293 |18 RE Bhny BFED 5| FER 10km B F &1~ 395% 297 558 207
659 2666 | Kill #F EESaP =] Z | FEE 10kmZ F40~ 54 43 101 43
660 2707 |6k T X% FEI %z | BER 10km& F55ELLE 1 102 1
661 2549 |fn@E HF Hb YRa % | FER 10kmZ F-40~ 545 44 103 44
662 276 |PAA F Xy <ok 5| FER 10km 5B F E % ~ 307% 298 559 298
663 2601 |8 $FiT Ahny LT %z | AEIg 10km& F40~54i% 45 104 45
664 1023 AN B— AShT ToAF B | #E)IE 10km 3 F40~545% 226 560 226
665 115 [88A1L #8RR hoXz FATH 3 | HEm# 10km B F E 1 ~ 39i% 299 561 299
666 2226 |RA)N tRF NEHD B33 % | EZ# 10km &K FE 1 ~ 395% 59 105 59
667 21 [fRR AR AAXS avgy B | XA 10km 5 F E % ~ 397% 300 562 300
668 1095 |EE#® B HTE= BEY 5 | =Em# 10km 5B F40~ 545 227 563 227
669 142 |)IsE 4B A8 ETH E:] HEHE 10km B F 245 ~ 395% 301 564 301
670 1073 | X% BE AAEY IYED B | HR#& 10km 3 F40~545% 228 565 228
671 2005 |FER BAF TN TX3 Z | EF#M 10kmZ FE 1% ~ 397 60 106 60
672 258 |86k EE AX% F35H 3 | Hm# 10km P F E 1% ~ 397 302 566 302
673 4“7 |Fl BEE ESvw vod B | ®RE# 10km B F E 4% ~ 397% 303 567 303
674 472 |WK T XYEL FIANA 5 | =Em# 10km 5B F E % ~ 307% 304 568 304
675 1397 |&H i EDZ S NIL E:] HEHE 10km B F40~54% 229 569 229
676 2649 |%£ 5% Sk 3E Z | EFR# 10kmZ F40~545% 46 107 46
677 31 A E2 424 Bhax 3 | HEm# 10km B F E 1% ~ 395 305 570 305
678 2528 | K3t EHEF AAA Ska % | mE)IR 10kmZ F40~ 545 47 108 47
679 2565 |/I\E B axA e[ %X | EFR# 10kmZ F-40~ 545 48 109 48
680 514 |iin &3k YRIF shen 5 | H5FR 10km 5B F E % ~ 307% 306 571 306
681 525 | WWF HE YT ShY E:] HEHE 10km 53 F E 4% ~ 307% 307 572 307
682 1304 |JEA XF NIE Tod EE 10km P F40~545% 230 573 230
683 2075 |&F BF Hra a3 % | EF# 10kmZ F 1% ~ 397 61 110 61
684 1557 |% M BE T34 7¥ED 35| FER 10km B F55% LLE 37 574 37
685 431 |BEAR HE ICEL ETEY B | RE# 10km P F E 4% ~ 397% 308 575 308
686 12711 | R# <F THE ZEL 5 | =Em# 10km B F40~ 545 231 576 231
687 1025 |B)I A2HT bAL £ BER 10km P F40~545% 232 577 232
688 1193 | TH #HE VES ZHED B | HR#& 10km P F40~545% 233 578 233
689 1020 |FF {68 A4 EOFF E:] FER 10km 5 F40~54i% 234 579 234
690 204 |18 #th BhNY FIX 8 | %me 10km P F E 1% ~ 397 309 580 309
691 319 |HEt #2 A7H Eoax B | RE# 10km P F B 1% ~ 397% 310 581 310
692 478 |=F+ A SHI HREY 5 | =Em# 10km 5B F E % ~ 307% 311 582 311
693 255 |#2f8 Ji KX4H EOsh 21 HER 10km B F B~ 3958 312 583 312




BN | L—RNo
694 2211 gﬁﬁ? o= ii_-ﬁm N uE. 5 R IEk | 57 BrIELL | 7 SR
695 25 |58 Bz ) ;‘E:L:\'— ; i;ﬁg{i OkmE T B~ 395 02 = L _?'ﬁﬁ“im_m LFRIERL
696 1399 |58 #x 3v/ a9 CHIEE - 10k R F B30 L 510 584 =
697 55 |%M = {EHR YIS 5 ifh— 10km % F40~ 545 235 585 313
68 | 2058 |Jisk m@F  |ho4 3va > To= i 10knh FEH-~ 308 | 314 586 m
699 | o077 iz mz o4 T= % T L0k F 2k~ 30if |63 112 -
700 163 |EA b DY EL DAy 5 HELE 10kmk PR ~008 |64 118 &
701 2110 |mm mmz FAbY 2 = AR 10kmBFEH~005 | 915 587 &
702 1315 |0 Es EJF w¥Ts ) th 10kmE FEH 00 | 65 114 =
703 334 |mo & FH5F SN 5 ;i“lk 10km % F40~ 545 236 588 £5
704 2505 |mA &HF 17EF 542 = 2t 10kmBFEHE~30% | 316 589 288
705 2615 |chE Ex FTHY=R X33 %= ifﬂ D Enrmers 49 115 =
706 | 2100 [A% wF 2%/ Ena % e 10km 2 740~ 54 50 116 2
0 | 10 e fm Svr ARE 5 T L0hm# B~ 308 | 66 117 m
708 2224 |%% NfE0s % Er 10k B 740~ 455 287 590 =
709 1564 | —ig NS XA 5 TER 10km?2 7 itk ~ 39k 67 118 2
710 2120 |kak 2 B4 /Y3 & imiﬂ 10k B 7 05 BLE 38 591 -
71| %0 [mE me %35 v#ea 2 e Lpioramdos, B0 119 -
712 2510 |l AETF A7 4 532 % A 10km 53 F40~ 54535 238 592 58
713 79 |RI B= FAhD T 5 228 L0k F 40 - 5478 51 120 2
714 485 | =i AR sv¥ vay E TR 10km B F AL ~395E | 317 503 51
715 25 |tRAt % A4L5 A9~A = ;ﬁgﬂ 10kmBF R ~398 | 318 504 317
716 2048 | KB 5 ey = Riﬂ 10kmBF B ~39% | 319 595 318
717 1178 |peiE E— Yhy SuAF ] = L0k F 2k~ 30jf |69 121 =
718 1260|185 BE A Shea - HEE 10km B F 40~ 5455 239 596 =
119 2 Tme 8 e £ T 10km B F 40~ 5425 240 597 239
720 2222 |BHiR £ /47 AZ3 % T WO FEM 39 10 122 -
721 2550 e BF £Ur L42 %= = 10kmZ FER~308 | 71 123 0
722 2540 |/NERY) HEY ABXY hAY & ¥%Lﬁ 10k 40~ 5485 52 124 1
13 | oo [T x# S5 SR e 125 2
724 76 1o ms 5% U3y - ;j%_‘okm%¥%&~seﬁ 320 598 5
725 2107 |/hL #E% pr— = LZE“:“ 10km B F B # ~395% 321 599 320
726 1504 | BNl EARD {2h7 avsasy B :ﬂ; 10k T Fg~ 00 |72 126 =
727 2613 |EE #7 bsAh Yara % AT 10km B 75558 LLE 39 500 12
728 1303 [RiE GRARER NIYE ooy E) iﬁz 10km & F40~ 547 54 127 =
729 1026 |EN aE 4257 e 5 == 10k 5740~ 54 24 801 -
730 1366 |RE B RS - :ﬁlgr 10km B F 40~ 545 242 602 z
731 551 | 7 TEFR KR AR L BE 0545|243 603 242
732 1402 |fOE sE— 74 394F E ﬁiﬁﬂ 10kmBF AR ~308F | 322 6504 243
733 381 [=# X —L5 ¥ED L] %Rgﬁﬂ 10k B F40-~ 5458 244 605 o
734 78 |miE m# IURY FA% 5 »i: 10kmBFFHAR~ 308 | 323 606 2
| 735 | 2055 WM 2 IHE BA % . 10mBFFHR~I08 | 324 607 2
736 1191 |iAk B TS 5 H# | 05521 |iOm&kFEB~00E | 10 - 324
737 1539 |/MEED M HHR AT 5 A | 05520 |10km3BF40~545E 25 608 . 13
738 1263 |kt B0 e - ﬁi?:%ri 10km 3B F56EE LA 40 609 245
739 1328 |88 f2— 293X rudF £ xEi 10km B 740~ 54F 246 610 *
740 2556 | A+ Hth L5 TY P f*‘ﬁiﬂ 10km P F40~545% 247 611 248
741 2569 |iffgE B EgrCra— = fi: 10km % F40~542% 55 129 247
742 181 [ g 2 ﬁiL; 10km# F-40~ 545§ 56 130 55
1 | 2027 | ska  |qro wis T 10mBF40~54f8 | 245 612 %
744 2265 | %% 2uR 3 = HR 10kmZ FEHE~308E | 74 131 =
745 1024 | HE 19T LA E] 228 10kmZ FER 005 | 75 132 =
e wow [an mem aeis a5 | e 10mBF40~545 | 249 613 5
747 2281 T ) HFT % aze 10km B 740~ 5448 250 614 249
a8 | 2076 |m& ¥ SvER 03 % timéﬁ—]l)kmﬁ;%&%gﬁ 16 133 20
749 1537 | B Xk Ev—— 2 f&: 10kmE FEIE~308F | 77 134 76
750 1505 | % By Y & e 10l FS5ALLE 41 615 1l
751 22 |Em #e eyre— 2 f«‘ﬂﬁgﬂ 10km B F5585 LLE 42 516 41
[ 752 | 2507 |mim azF SH1Ny 533 - ﬁf: 10kmBF B ~398 | 325 617 2
753 | 1sa6 |k sak hEL S74 PR Lamd 40 iy 57 135 =
754 2617 |ty #HETF hlo asa - *ﬁlg 10kmBFE5HLLE 43 618 57
755 | 1160 |mm #h FALS T = = 10k F40-~ 5448 58 136 4
756 2140 |8k BETF A% 134 = I 10km B F40~ 54 251 619 58
757 2184 |38 A7 ESTNTE = TER 1OkmZ PR ~308 | 18 137 2
58 | o516 |mE BT 4275 393 R e 138 0
759 206 | % e Emr 5 T ENTERTNE T > 139 s
760 2662 | A5 =t h <5 = iﬂ;&_mm%%%&;»«seﬁ 326 620 29
61| o616 {05 BT Fhvan 7%a T 10km# 740~ 545 & 120 =
762 153 |dba8 % 587 PEEF 5 e 10kt 40~ 54k 61 141 &
763 328 | B VAT SR E xEi 10kmBFEH~308 | 327 621 &
764 2204 |hE BE FHh Uh = ERi 10km% FEAE~308 | 328 622 2
765 | 2046 |k 2 FA5a T % e 10m& B ~00% | 80 122 2
766 1300 |4l a5 N\UXY bmak E j;ﬁlr Womdymiosig | b 123 %
767 1561 |qeis EF T = B | 05603 |0 F40~54s8 252 623 &
768 1231 |BiE Ea SN FEA - T 10km B F 6658 WL b 44 624 22
769 1084 |FE% 658 ANYZR 25N E TR 10km 5 740~ 54 253 625 -
770 2015 | & @i 424 7% - ;fgﬂ 10kmE F40~548% 254 526 253
771 1361 | =@ #— SYJ/ YadF 5 n:{ﬂs 106m#F Bt~ 00 | 82 144 2
772 2223 |BHE T& )8 F7% - t”"“gﬂ 10km B F40~542% 255 527 82
713 1404 |l & AR AhS = _iﬂﬁg 10km%& FE 5~ 3058 83 " 255
774 2080 [N ARTF »7JI T2 % HENR 10km 3 P40~ 5448 256 628 -
775 | 1270 |whs &t FHES 84Y 2 FET T 148 -
76| o0 [ i SUkn s ST 10kn#$ 740548 1 267 629 =
71 1352 |ME T4 Erye—— EE: 10km & F40~547% 2 " 251
778 01 |x3 8 FYRT IR Z j;f% 10km B F40~ 5458 po = 7 o2
70 | sz | g IWHD A4F T R IT ETT T 631 o
780 1507 |PpE #a PT-XEDAD 3 ﬁ—lLR 10km B F E4R~ 308 | 320 632 o
781 1125 |AH & L5 HNL El ﬁjﬁr; 10kmE FESRELL 45 633 -
782 1211 |#K At 2X% HE% Fl 1:}{“:“ 10km B 740~ 548 260 634 =
183 12 |\RE A FA a9y 5 ;EH— 10km % F40~ 545 261 635 20
784 515 wo =TT AL 5 ﬁfi—mkm%¥%‘&~seﬁ 330 436 261
785 131 |#F & H*3 EOax E) ﬁfﬁL—‘Okm%?%ﬁ%ﬁ 331 637 0
786 503 |&T 58 LR Lany 5 ﬁiﬁﬂ 10kmBFFHR~30% | 032 a38 281
787 299 |48 % BHNS TEL 5 ifgﬂ 10km 5B F B4 ~ 39i% 333 639 o~
o8 | o |m4 Gw ah% £ 2228 10mBF Bt~ ook | o34 510 s
789 2233 |FM HF NSE_EHa % IXR 10km % FEi#E~ 398 | 335 641 P
790 1575 _|18F [ ST = ifi 10km& F B # ~395% 85 " 335
701 | 2508 MR mZEF  [44As asa % BAH | 05629 10k FO5RELE 46 642 e
792 2538 | (EET AH5 #Ia % = 10k 740~ 5488 53 149 =
Fa#h | 05620 [1okmFa0~54 64 e 63
64




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
793 167 |iE3 #R Yhq EOVY ERECEIN 10km 3 F40~545% 262 643 262
794 2577 [$R& 1350 YHho5 NI/ % | FER 10kmZ F-40~ 545 65 151 65
795 444 ) B4 BRYAT FEL L) FER 10km B F 245 ~ 395% 336 644 336
796 433 |#)I| BE NI FIInA B | #E)IE 10km 5B F E 4 ~ 397k 337 645 337
797 2104 |/ EBF 3y 5Fa % | FER 10kmZ F 1% ~ 397 86 152 86
798 2603 [#ElE M A% T3 % | m=m#s | 10km& F40~ 548§ 66 153 66
799 2319 |78 BERF J8FR 342 X | ER#H | 10kmZ F 4% ~ 397% 87 154 87
800 416 | FE ES%Y bED 5 | FER 10km 5B F E % ~ 307% 338 646 338
801 2221 |HiG EF /Y% /720 %Z | ER# 10km & F E % ~ 397% 88 155 88
802 2573 |7EHE BREE HAbH %as Z | EFR#M 10kmZ F40~545% 67 156 67
803 2563 |A[%F T ay/ Pava Z | EF#M 10kmZ F40~54% 68 157 68
804 1230 |&18 — BHNY A94F 5| FRR 10km B F40~ 547 263 647 263
805 2273 |=R HF SYNS 7Y % | FER 10km&E F IR ~30%% | 89 158 89
806 341 | +R FE % Yavzry 5 | =Em# 10km 5B F E % ~ 307% 339 648 339
807 2044 |5EpE FERL IVRY aFT Z | AEIg 10km & F E % ~ 397% 90 159 90
808 95 |45 —Ep AH% 4Fa% 5 | #EIe 10km B F 1 ~395% 340 649 340
809 2019 |HM BE =y %z | HWE :56: 10km & FE# ~395% 91 160 91
810 1051 |FH)I EF DERT o g2 HE#E | 056 10km 5 F40~54i% 264 650 264
811 526 |ILA X YIEL TUB E L 10km P F E 4% ~ 395% 341 651 341
812 161 |HE ki XUy H4F B | #FIE 10km 5B F E % ~ 307% 342 652 342
813 455 |31l H— RRYY YUAF E:] HEHE 10km 53 F E % ~ 307% 343 653 343
814 1556 | FIg A TYR EHY 5 | ®mEm# 10km B F555% LLE 47 654 47
815 1187 |8 th— 27X A94F 3 | HEm# 10km B F40~ 545 265 655 265
816 2156 |SK £F ShE Sh % | EF# 10km & F &8 ~ 39i% 92 161 92
817 1099 |H%H EX hB/ THA 2| BFR 10km 8 F40~54% 266 656 266
818 1530 |JIli 35— HIHF IAAF 5 | ZHR 10km B F565E LLE 48 657 48
819 2589 |H3 EF 254 3F2 %Z | ER# 10kmZ F40~545% 69 162 69
820 1309 |[REA K NTE HARY 5 | ®mEm# 10km P F40~545% 267 658 267
821 177 |58k B— Hho XAF E:] FER 10km 5 F40~54i% 268 659 268
822 1346 |WTF % wILE B 2| H=E# 10km 5 F40~ 545§ 269 660 269
823 59 |3 #F A/ 9T B | RE#A 10km P F E 4% ~ 395% 344 661 344
824 1028 |F)I| ##E= AHD 29I 5 | =m# 10km 5B F40~ 545 270 662 270
825 2076 |SKME HXE H3IH IS %Z | ER# 10km & F % ~ 397% 93 163 93
826 46 |l "B > 5| FER 10km 5B F E 4 ~ 397k 345 663 345
827 2207 |dill £ Fh¥< F+ % | HF# 10kmZ F 1% ~ 397 94 164 94
828 2592 |®il #HEY x REH 10km & F40~545% 70 165 70
829 2131 &K REF X | ER# 10kmE F IR ~30%% | 95 166 95
830 2635 |BE FEF X | ER# 10kmZX F-40~ 545 bal 167 bil
831 2203 [KiB —# FHRZ HXT x| FER 10kmZ&Z F 245 ~ 395% 96 168 96
832 432 |BELL R—ER 2o¥3T T44FOY 5| FER 10km 5B F E 4 ~ 39i% 346 664 346
833 1278 |t FB— FHhLS ToAF 3 | HEm# 10km B F40~545% 271 665 271
834 1055 |iB% Fz D3/ EFaE 35| FER 10km P F40~545% 272 666 272
835 2006 |FIE EF FA 43 x| ARIR 10kmZ F 4% ~ 397% 97 169 97
836 1534 |8% BE gL\ B5ED 5| FER 10km B F565% LLE 49 667 49
837 10 L TIE TIE E:] HEHE 10km 53 F E 4% ~ 307% 347 668 347
838 318 % SFh bEET 5 | ®mEm# 10km 5B F E 4 ~ 39i% 348 669 348
839 2306 FL# AVHT Tt Z | EF#M 10kmZ FE 1% ~ 397 98 170 98
840 2114 A BF HHhENS FED % | EF# 10km & F 1 ~ 393 99 171 99
841 1220 #H= EN YT 5| FER 10km 3 F40~54i% 273 670 273
842 1308 L NYEIX Yy 5 | #RNR 10km 5B F40~ 545 274 671 274
843 545 g K VEFN HART E:] HEHE 10km 53 F E 4% ~ 307% 349 672 349
844 2026 EIES AFHhD _HXS Z | EFR# 10kmZ F 245 ~ 397% 100 172 100
845 1281 2 FTHhLS EYY 3 | HEm# 10km B F40~ 545 275 673 275
846 1580 45— SLS Lav4F 35| FER 10km 5B F555E LA 50 674 50
847 388 |Ht MW JAS Ay E:] [ITET 10km B FEHIL~395% | 350 675 350
848 1520 | #H h4 _=ab 5 | =Em# 10km B F565% LLE 51 676 51
849 1347 |¥AFH Bk XIE Ty E:] HEHE 10km B F40~54% 276 677 276
850 1374 |#0 IEA YITF avy E:] BER 10km 3 F40~545% 277 678 277
851 2286 |&K{F BET XYy 7yva Z | EF#M 10kmZ F 1% ~ 397 101 173 101
852 2299 |IWA FEEK YIER VS % | mEIg 10km & F 1 ~ 393 102 174 102
853 2637 |HE MBEF ) AAY %= % | FER 10kmZ F-40~ 545 72 175 72
854 1543 |3FgE S avkY EF/T 5 | FER 10km B F55% UL 52 679 52
855 2088 |#WA RFEF *941) =Ya x| FER 10kmZ&Z F 245 ~ 397% 103 176 103
856 2295 |WWE &KLZ Y3 3o %Z | mEIg 10kmZ F 245 ~ 397% 104 177 104
857 253 |E[R #i AAIZ Tay 3| FER 10km B F E 1 ~ 39i% 351 680 351
858 477 | &E e IVEY YagRy 3 | Hm# 10km B F 1 ~ 395% 352 681 352
859 204 |%EBE FH Y4bY EFTE B | FER 10km B FEHIL~305% | 353 682 353
860 2169 |HH Fif 8FH hAL Z | ARIE 10km & F E % ~ 307% 105 178 105
861 1004 |i%F* i FHA YRAE E:) FER 10km P F40~545% 278 683 278
862 1359 |=)I| FhAr SYHD BARYT 5 | ®mEm# 10km 3 F40~545% 279 684 279
863 440 |25 FH w/ IHIY 3| FER 10km B F E 1 ~ 39i% 354 685 354
864 1501 |BAGE = FEER Lavdy 5 | HE#H 10km 5B F555E LA 53 686 53
865 2651 |=A FHiET SYER 7XD % | FER 10kmZ F-40~ 545 73 179 73
866 159 | A f= XLT BT 5 | Hm#p 10km B F 5 # ~ 393% 355 687 355
867 100 [/ #iZ AHT Bher E:] HEHE 10km B F 245 ~ 395% 356 688 356
868 1563 |4k #F NS IANA ERE:EII 10km B F558% UL 54 689 54
869 2261 |MA #HE XYEL RXH Z | EF#M 10kmZ FE 1% ~ 397 106 180 106
870 306 | PrE E— BE aA9Y 3 | HE# | 10km P F E 1% ~ 397 357 690 357
871 1212 |85K S RXx Sht E 10km 3 F40~54i% 280 691 280
872 1243 |Hf F— BFH PavAF 5 | =Em# 10km 5B F40~ 545 281 692 281
873 2177 |F%H BEF F/ TYa %Z | ER# 10kmZ&Z F 245 ~ 397% 107 181 107
874 2552 [)IIE iZF HTHS Para Z | EFR# 10kmZ F40~545% 74 182 74
875 1121 |EA #F X EL BHET 3 | HEm# 10km B F40~545% 282 693 282
876 555 |iEER i TEN FxFF 3 | HE# | 10km B F 1 ~ 395% 358 694 358
877 1558 |=H HE k34 HZED E 10km P F55% UL 55 695 55
878 1005 |%% F8§ THh bTH 5| FER 10km 5B F40~ 545 283 696 283
879 1065 | KK B= AFOF TP £ BER 10km P F40~545% 284 697 284
880 1101 |HM Fth HIZE HAY EE 10km P F40~545% 285 698 285
881 2523 | AT BIF AJx /Y3 % | EF# 10km % F-40~ 547 5 183 75
882 1127 | K4 Eth ¥LS IYY 3| HER 10km 5 F40~ 545§ 286 699 286
883 2085 |JIR HHEFE HINS aUh % | FER 10kmZ F 4% ~ 397% 108 184 108
884 2082 [I& kE H7F bES x | FER 10km & F E % ~ 307% 109 185 109
885 2160 |HH8 #F BANY T4 %Z | ER# 10kmZ F 245 ~ 397% 110 186 110
886 1151 |/NEE fE+ 3=y oy 5| FER 10km P F40~545% 287 700 287
887 1331 —5% 294 HAIS E:] 10km 5 F40~54i% 288 701 288
888 541 bl EES I E:] 10km B F 1 ~ 395% 359 702 359
889 2025 |1RIE BAF AB1\5 F7¥2 %= 10km& FE K ~395% 111 187 11
890 520 |l [ YIEY ETEH E:] 10km 5B F E % ~ 307% 360 703 360
891 1555  |3FH Fi 113 A 5 1 TE8 10km B F565ELLE 56 704 56




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
892 2119 |#&EdmE Bk Yo% EE X | ER#H | 10kmZ F 4% ~ 397% 112 188 112
893 2083 [)Ildh s P IAV I X | ER# 10km & F E % ~ 307% 113 189 113
894 2518 |{FiE B ALY HhA N % | BFR 10kmZX F40~545% 76 190 76
895 2068 |%& —Th IH95 HhR/ Z | EFR#M 10km#&Z F 245 ~ 397 114 191 114
896 1009 |BI#R e TA EOax 2| FER 10km P F40~545% 289 705 289
897 80 | KI AR e e 2 1= ) ER RSN 10km B F 1 ~ 395% 361 706 361
898 2012 |F+ja 0% AH5Y hXS Z | BFR 10kmZ F 4% ~ 397% 115 192 115
899 2117 [$FA EfE YHEL SH X | ER# 10km & F E % ~ 307% 116 193 116
900 1068 | AH BE A4 7¥ED E:] FER 10km P F40~545% 290 707 290
901 99 |MA pE— AhEE Vao4F 5| FER 10km 5B F E 4 ~ 39i% 362 708 362
902 211 3RA RE HHEL PRTH 3 | HEm# 10km B F E 1 ~ 39i% 363 709 363
903 2312 |HR At EPZAwE=Y;] x| FER 10km &K F 48 ~ 393k 117 194 117
904 2504 |2 HiE 7Y/ FH X | ER#H | 10kmZ F-40~ 545 77 195 77
905 1233 | EH8 Sz Shny bEIF 5 | =m# 10km 3 F40~545% 291 710 291
906 451 |85 % %Y/ F7al E:] HEHE 10km 53 F E % ~ 307% 364 711 364
907 68 | LN fF5A DI=AF4 IHen 5 | ®mEm# 10km B F Z1% ~ 393% 365 712 365
908 1146 |RE BX Y% FuY E:] BER 10km 5 F40~54i% 292 713 292
909 2520 {7k B Ak Uh % | FER 10km& F40~ 545§ 78 196 8
910 2014 | F& A4 FIL % | FER 10km#& F B8 ~ 3088 118 197 118
911 2017 |&E) #EF A>Hh7 kA % | ER# 10kmZ F 4% ~ 39i% 119 198 119
912 2584 |REE% T Hh/ hXa %Z | ER# 10kmZ F40~545% 79 199 79
913 1144 |/NE E—BR gL LoA4Fay 5 | ®mEm# 10km P F40~545% 293 714 293
914 2004 |R3 #F F7EF STa % | EZ# 10kmZ F 1% ~ 397 120 200 120
915 287 |&iE @ BHY v 3 | HE# | 10km P F E 1% ~ 397 366 715 366
916 2028 |{FHE RF ALY bED % | FER 10kmZ F 4% ~ 397% 121 201 121
917 36 | B% =B A2/ aA9RY 5 | =m# 10km 5B F E % ~ 307% 367 716 367
918 1107 _|&F R hFa FES 5 HEHE 10km P F40~545% 294 717 294
919 2255 |Bii)Il #=F YIHNT HYFa %Z | mEIg 10km#&Z F 245 ~ 397 122 202 122
920 2293 |ILFH SEpHH YIH 33k x| @R :59: 10kmZ F 1% ~ 397 123 203 123
921 2262 |#A Gh TYER /LS % | EF#M | 10km & F 18 ~ 39i% 124 204 124
922 200 |18 %=h BHNY AT B | FER 10kmSB FEHIL~305% | 368 718 368
923 2598 |=H8 &8Y Bhiny Y7l x | FER 10kmZ F-40~ 545 80 205 80
924 1379 |l Bk it o= D2 5 FER 10km P F40~545% 295 719 295
925 380 |—#f B2 —~A EOaF B | B5FER 10km 5B F E 4 ~ 397k 369 720 369
926 2206 |ttt I5F FHhLZ T3 % | wEg :59: 10kmZ F 1% ~ 397 125 206 125
927 8 |-h 8 AFI_THF % | Fm# | 059 10km B F K ~395% 370 721 370
928 83 | AM fE— A4E bOAF 5| FER 10km P F 245 ~ 397% 371 722 371
929 2229 |7EE ¥ NFTHD T S BRHD 10kmZ F B 4% ~ 395% 126 207 126
930 70 |4H KE o SV == E:] HEHE 10km 53 F E % ~ 307% 372 723 372
931 106 |2 #HE AH¥x ShY 5| FER 10km 5B F E 4 ~ 39i% 373 724 3713
932 2608 |F¥ BF Fi8 742 % | EF# 10kmZ F40~54% 81 208 81
933 2288 [II§ BHF Yehy 7% % | HEEH | 10km & F 1 ~ 393 127 209 127
934 2655 |jTIE BEF ELOT FAD %z | HEIR 10km& F40~ 5455 82 210 82
935 2320 [0 EEF 255N IS X | ER# 10km & F E % ~ 307% 128 211 128
936 2002 | Fil B FA¥Y=< LA %Z | ER# 10kmZ&Z F 245 ~ 397% 129 212 129
937 1569 | BER i VNG TR B | HR#& 10km B F558% UL 57 725 57
938 2524 |5 AE 473 YT % | EF# 10kmZ F40~54% 83 213 83
939 2121 |{kBE FiD by FE % | mE)IR 10km & F 1 ~ 393 130 214 130
940 360 |fhE K@ FhE ZART B | XA 10km P F E 4% ~ 395% 374 726 374
941 2066 [/NUF BEEF A VIY o x | FER 10km & F E % ~ 307% 131 215 131
942 223 |{EBE TEH Hh ZHF E:] HEHE 10km 53 F E 4% ~ 307% 375 721 375
943 1340 |38 B ZILEF EOY 3 | #ENR 10km P F40~545% 296 728 296
944 504 |XE Ih— Yo% AVAF 3 | HEm# 10km B F E 1 ~ 39i% 376 729 376
945 2209 |ME BigF FUE 2% % | EF#H | 10km & F 1 ~ 393 132 216 132
946 2186 |F3HME #HE b5 ThT X | ER#H | 10kmZ F 4% ~ 397% 133 217 133
947 1551 |8 A AX% VR 5 | =Em# 10km B F565% LLE 58 730 58
948 2079 |IIE ¥ HIJT TX x| FER 10kmZ&Z F 245 ~ 397% 134 218 134
949 166 | Tk Hi- gEY <HEr 5 | ®mEm# 10km 5B F E 4 ~ 39i% 377 731 377
950 538 |#)l T ALHT a9INA 3 | #RIR :59: 10km B F E 1% ~ 395 378 732 378
951 2170 |@E B s+h LIT % | EE# | 05959 [1okmEkFEHE~395 135 219 135
952 138 [BBE E— HEL PAF B | RE# 1:00.04 | 10km B FE#~395% 379 733 379
953 1225 |&4% %3] BHE a9 5 | =Em# 1:00:04 | 10km % F40~545% 297 734 297
954 2557 |*¥Y/ FT *)/ FT %Z | ER# 1:00:05 | 10km%& F40~545% 84 220 84
955 203 | FBE AR HAbH 209 5 | ®mEm# 1:00:05 | 10km B F &1 ~395% 380 735 380
956 2249 |BRR AET Y% 32 Z | EF#M 1:00:06 | 10km& FE#~395% 136 221 136
957 2139 |85k BEF AX%X FX3 % | FER 1:00:07 | 10km#x FE 4% ~ 395 137 222 137
958 1269 [hE 19 FTHUZ ERY B | ®RE# 1:00:14 | 10km 5 F40~545% 298 736 298
959 2511 |32 BT {H¥7 _HYT % | ER# 1:00:14 | 10km%& F40~545% 85 223 85
960 320 [mn £7 BFAR Savy 2 | Fxe 1:00:17 [10km B F B4k ~303% 381 737 381
961 362 |hH #E FHhE= &4k 5| Hm#p 1:00:19 [10km B FE K ~395% 382 738 382
962 24 |fRA A AALT V5% 3 | HEm# 1:00:21 | 10km B FE# ~ 394% 383 739 383
963 1122 | KB #E XV Y=k 3| B5FR 1:00:21 | 10km B F40~545% 299 740 299
964 423 |@®E HE 2922 AT B | ®RE# 1:00:22 |10kmBFEH#L~395% | 384 741 384
965 2643 [#%@ & IRY_HAY % | NS [ 1:00:22 |10kmEKF40~545% 86 224 86
966 2579 |l BA%E HXYI T3 x BER 1:00:22 | 10kmZ& F40~54i% 87 225 87
967 2244 |BEH X8 294 SIIL Z | FEER 1:00:25 | 10km& FE#~ 395 138 226 138
968 2575 |3RiZ BT YhAH¥I 42 Z | #FNE | 1:00:27 [10kmZ F40~545% 88 227 88
969 2648 |=M {#F 34 EAo % | HEE#H 1:00:27 | 10km& F40~54%§ 89 228 89
970 2278 |HE BE LSHS /NS %X | EFR# 1:00:29 | 10km& FE#~395% 139 229 139
971 2210 |#i B Fav 74 X | FER 1:00:29 | 10km#& FE4% ~ 394% 140 230 140
972 2515 | B FiEHE A=Y VAT X | #F)IE | 1:00:30 [10km& F40~545% 920 231 90
973 2215 |FEM miaF =4 a%a Z | FEER 1:00:34 | 10kmE FE#~ 395 141 232 141
974 1034 |BAX FEA ALEE JUEY E:] FEE 1:00:35 | 10km 5 F40~54i% 300 742 300
975 6 RIg 2 TIR A8H 3 | Hm# 1:00:36 | 10km B F &4~ 395% 385 743 385
976 1108 |[&H HEH HhHB TILY B | ®RE# 1:00:37 | 10km 5 F40~545% 301 744 301
977 2713 |# EBF N¥Y 5Fa % | %8 | 1:00:39 [10kmZ F55RELLE 2 233 2
978 2196 | RF Fh 43 %Z | ER# 1:00:42 | 10km&X FE#~395% 142 234 142
979 105 (K 347 AUES AT B | HE)IE [ 1:0046 |10kmBFEHR~3985% 386 745 386
980 2029 |{FHE BEE ALY /LS Z | @BRNE | 10047 [10kmEFEHH~395 143 235 143
981 7 g &2 7V ¥Rax B [ #FNR | 10052 |10kmBFE~3988 387 746 387
982 2102 |/MR H% aYhA ERS % | FER 1:00:56 | 10km& F &4~ 395% 144 236 144
983 1549 |24 =5 HINE axA4 E:] B30 1:00:59 | 10kmSB F55a%LLE 59 747 59
984 2236 |Ast #F vy /Yo x| FWE 1:01:00 | 10kmE FE#~395% 145 237 145
985 1255 |i##A ALE V79 VHHE 5| FER 1:01:01 | 10km 3 F40~545% 302 748 302
986 1058|581l @IS IHD BT 3 | HEm# 1:01:01 | 10km B F40~545% 303 749 303
987 22714 |=A BE SYER I3 % | HAR 1:01:03 | 10km#& F&4% ~ 394 146 238 146
988 2289 |l EEF Y¥¥ T33 % | BFR 1:01:03 | 10km&Z FE#~395% 147 239 147
989 2231 |iEM BEF NS _TY3 x BRHD 1:01:05 | 10km& F 1% ~ 39i% 148 240 148
990 2568 [/ JE =EV ;7 9] Z | FEZ#H 1:01:05 | 10km# F40~545% 91 241 )l




BB | L—RNo EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
991 1273 |y Fhi= oy B | #HBER 10km 3 F40~54i% 304 750 304
992 1234 | B8 BhNY IT 5 | =Em# 10km 5B F40~ 545 305 751 305
993 2268 |k SX/ 133 %Z | ER# 10km & F E % ~ 307% 149 242 149
994 2277 __|HF LZHE Bha Z | BFR 10km#&Z F 245 ~ 397 150 243 150
995 2298 |ILA& YYEL Para x| @R 10kmZ F 1% ~ 397 151 244 151
996 2582 |{kik Sk EOa % | BER# 10km & F40~54%% 92 245 92
997 2175 |84 A=L5 F¥a Z | BFR 10kmZ F 4% ~ 397% 152 246 152
998 50 #R Ak HZXEh B | #FIE 10km B F B 4% ~ 395% 388 752 388
999 286 | =48 BHET /7% E:] HEHE 10km 53 F E % ~ 307% 389 753 389
1000 2652 |=#h =FIT S7 IFI Z | EFR#M 10kmZ F40~545% 93 247 93
1001 2581 |{kBE % Hbo YF Z | EF#M 10kmZ F40~54% 94 248 94
1002 2704 |FER E£EF avYh ST % | kR 10km & F56% LLE 3 249 3
1003 1540 |#8)Il S avhT AhAt 2| FER 1:01:25 [10km B F558E LA 60 754 60
1004 2060 |8l CFF Aox¥< aXT % | #FNE | 1:01:28 [10kmEFEK~395 153 250 153
1005 1393 |#HH ®E EDZ 2 W E:] HEHE 1:01:29 | 10km % F40~545% 306 755 306
1006 373 |dill F— FhY< ETHX 5 | ®mEm# 1:01:29 | 10km B F & ~395% 390 756 390
1007 2248 |BEE HDE Y/ 3a% % | FER 1:01:30 | 10km& FE#~ 395 154 251 154
1008 1170 3RE EA YhoS Nk 5| FRR 1:01:30 | 10km % F40~54i% 307 757 307
1009 2558 |#@M CFX *YJF axT Z | BFR 1:01:31 | 10km%& F40~545% 95 252 95
1010 2567 |/h#R EST o A O = e % R 1:01:37  [10kmZ F40~ 545 96 253 96
1011 1351 |¥AA R3] IVEL avY E:) FER 1:01:38 | 10km 5 F40~545% 308 758 308
1012 2003 |%% BEM%E 7Y/ =as Z | EFR#M 1:01:39 | 10kmE FE#~ 395 155 254 155
1013 1132 AKX & IhE By 3 | HEm# 1:01:40 | 10km B F40~545% 309 759 309
1014 2133 |B3 FUKF v54 I3 % | FER 1:01:41 [ 10kmK FEH~395% 156 255 156
1015 2570 |ifgE Fi#F vk FYa % | HEE#H 1:01:42 [ 10km& F40~545% 97 256 97
1016 2267 |=%# VBH SHE EOS X | ER# 1:01:43 | 10km#& FEH% ~395% 157 257 157
1017 1153 |Gk RER =A% W= 1) 5 FER 1:01:44 | 10km % F40~545% 310 760 310
1018 2275 |EAX AETF SYER 430 Z | EFR#M 1:01:45 | 10kmE FE#~ 395 158 258 158
1019 1126 | K# EF FLT THHX 2| FER 1:01:45 | 10km B F40~545% 311 761 311
1020 2246 [FRIE Fi P e il e Z | BFR 1:01:45 | 10km&Z F &4~ 395% 159 259 159
1021 2708 |i#R R#F A¥HT 330 % | FER 1:01:48 [10km& F558E LA 4 260 4
1022 1395 |#H B ILE BhYy 5 | =Em# 1:01:51 | 10km 3 F40~545% 312 762 312
1023 2714 |IR# BT eot hE3 & | #FNE | 1.01:51 [10kmZ F558 UL 5 261 5
1024 117 NH RE Hh7/ FEIY B | #E)IE [ 10152 |10kmBF40~545% 313 763 313
1025 1046 |ET & P M == 3 | HEm# 1:01:53 | 10km B F40~545% 314 764 314
1026 266 |#hK E$E AX¥ Avax B [ #ENR | 1:01:53 |10kmBFEK~3988 391 765 391
1027 2314 |0 & TEFN TS % | FER 1:01:53 | 10km& FE#~395% 160 262 160
1028 2168 [Md AEY S5H HhAY X | ER# 1:01:54 | 10km#& FE4% ~ 395% 161 263 161
1029 2213 |FE BHF =># axa X | #E)E | 10156 [10kmERFEK~395% 162 264 162
1030 2126 |{AIR kR YT SHA Z | FER 1:01:59 | 10km&E FE#~ 395 163 265 163
1031 2057 |/ R AHI <Y % | EF# 1:02:03 | 10km&X FE#~ 395 164 266 164
1032 482 |=B ¥ SYUR stn B | R 1:02:03 | 10km B F &1 ~395% 392 766 392
1033 367 |5kB —17 FHZ hXa¥ 2| FER 1:02:06 [10kmBFE#~305% [ 393 767 393
1034 2238 |FH MF £S5/ Fh X | ER# 1:02:09 | 10km#& FE4% ~395% 165 267 165
1035 1118 I A HITES HVER E:] HEHE 1:02:12 | 10km 3 F40~545% 315 768 315
1036 1344 | ARZE hys EOF 5 | ®mEm# 1:02:14 | 10km 3 F40~545% 316 769 316
1037 2049 | K7BE F AAZRA =as Z | FEE 1:02:14 | 10kmE FEH~ 395 166 268 166
1038 497 |#% BRA EY IARYT B | BFER 1:02:16 | 10km B F &1 ~395% 394 770 394
1039 1582 |t MRS LSV TEE B | RE# 1:02:18 | 10km B F55m% LA E 61 771 61
1040 1250 |AFE B= BZNG LT 5 | FER 1:02:22 | 10km 5 F40~545% 317 772 317
1041 1059 |ST)I| B IHD EF/T E:] HEHE 1:02:24 | 10km 5 F40~545% 318 773 318
1042 2279 |HiH) BE LSV YT X | EZ# 1:02:27 | 10kmE FE#~ 395 167 269 167
1043 2087 |#E FIE HiNS hUS Z | EF#M 1:02:27 | 10km&E FE#~ 395 168 270 168
1044 2593 |EA Hi%X R4y 2as % | EF# 1:02:27 | 10km%& F40~545% 98 271 98
1045 2703 | 4RI a%T % | #wENE [ 1:0228 [10kmEF55RELLE 6 272 6
1046 2208 [dhill EBTF FHhYZ S93 X | ER# 1:02:29 | 10km#& FEH% ~395% 169 273 169
1047 2646 |#AE EFF IYH 342 S FER 1:02:32  |10km& F40~545% 99 274 99
1048 338 | XH FH B ZAV IRV B | BR[| 1:0233 |[10kmBFEHR~395 395 774 395
1049 37 |BR X AN T B | mE)E | 10238 |10kmBFEHR~398 396 775 396
1050 2548 |k X & Hby JST % | FER 1:02:42 | 10km#x F40~545% 100 275 100
1051 1062 |k # IURY S/ 5| FER 1:02:42 | 10km 8 F40~545% 319 776 319
1052 2541 |N\% NEE A/ Hay S ERER 1:02:45 | 10km& F40~54i% 101 276 101
1053 1559 |RE R FHZ ALTH 5 | FER 1:02:49 | 10km B F555ELLE 62 771 62
1054 2194 | MBE BT F4bm EOa Z | REE 1:02:51 | 10km&E FE#~ 395 170 277 170
1055 2630 |/RA T NoE /YT Z | EF#M 1:02:51 | 10km& F40~545% 102 278 102
1056 1511 |58 b Y IAY 5 | HE#H 1:02:55 | 10km B F5585LAE 63 778 63
1057 2144 |85k HF RX¥ w9 %X | EFR# 1:02:56 | 10km& F &4~ 395% 171 279 171
1058 2290 [1L5 #5F YIYX aAvh % | BFR 1:02:56 | 10km#& F &4 ~ 395% 172 280 172
1059 1545 |3RA FIE YHEL ETFIF 5 R 1:02:57 | 10km B F555ELLE 64 779 64
1060 172 |ER FA VNG hReH B | FEE 1:03:01 | 10km B F & ~395% 397 780 397
1061 401 |fEM #4id NFE LT B | m)E | 10301 |10kmBFEHR~398 398 781 398
1062 2202 |RR & FHLE HhANL % | FER 1:03:03 | 10km#x F &4 ~ 395 173 281 173
1063 508 |#IMH it YFEH Eoax B | ®RE# 1:0305 |10kmBFEH#L~395% | 399 782 399
1064 1529 |k 45 HIHS AL 5 | =Em# 1:03:05 | 10km B F55RELLE 65 783 65
1065 2640 |AM #HE i SAVES %Z | ER# 1:03:07 | 10km& F40~545% 103 282 103
1066 19 |8RA Wi 4495 BhA 5 | ®mEm# 1:03:07 | 10km B F & ~395% 400 784 400
1067 404 |#k KfE Ny H44Y 3 | HEm# 1:03:08 | 10km B FE# ~395% 401 785 401
1068 2155 |SE B BhA AT Z | @ENE | 10309 [10km&ZFEE~395 174 283 174
1069 2166 |MHI% FEF Y% 7yva %X | EFR# 1:03:09 | 10km&Z FE#~395% 175 284 175
1070 1221 |BiE RAR Y ILT7E 5 | =Em# 1:03:13 | 10km 3 F40~543% 320 786 320
1071 2045 [/ WEF A7F HFa x| FER 1:03:13 | 10kmE FE#~395% 176 285 176
1072 2501 |78 BT AHA 743 Z | EFR# 1:03:15 | 10km& F40~545% 104 286 104
1073 2252 |3 BEE £ FA3 Z | EF#M 1:03:15 | 10km&E FE#~ 395 177 287 177
1074 353 |dh)il HZ FTHHAD <Hax B | HEH 1:03:16 | 10km B F &1 ~395% 402 787 402
1075 2089 |E# K% *3 778 %X | EFR# 1:03:17 | 10km&Z FE#~395% 178 288 178
1076 162 |#fr % BESA *UHY shen B | HENE [ 10319 [10kmBFER~398% 403 788 403
1077 2629 |R FF NT ETD %Z | ER# 1:03:20 | 10km& F40~545% 105 289 105
1078 2164 TN #Fwp BTIF 32 Z | EFR# 1:03:20 | 10kmE FE#~ 395 179 290 179
1079 1070 | KM £ AA8 3/ E:] REH 1:03:22 | 10km 5 F40~54i% 321 789 321
1080 2062 |EE E£XTF AF74L4 32 % | EF# 1:03:23 | 10km& FE#~ 395 180 291 180
1081 2259 |Br3 £& IFA4 3% %X | ER# 1:03:28 | 10km&Z FE#~395% 181 292 181
1082 1533 |HH& =T *UY SFA 5 | FER 1:03:28 | 10km B F55RELLE 66 790 66
1083 254 |&H fB— AXIT TuAF E:] HEHE 1:03:28 | 10km B FEH ~395% 404 791 404
1084 2624 |E#)I BIEF NEAHD axa z FER 1:03:29 | 10kmZ& F40~54i% 106 293 106
1085 2037 |5 UEH 473 EYS Z | BFR 1:03:30 | 10kmE FE#~ 395 182 294 182
1086 1232 |48 #— BHNY TavAF B | #w=)IE [ 1:03:30 |10kmBF40~545% 322 792 322
1087 2625 |EBI BF NEAT Y2 % | EE#H 1:03:30 [ 10km%& F40~545% 107 295 107
1088 2553 |JIIA 3IKY HTEL SKY % | FER 1:03:31 [10km& F40~545% 108 296 108
1089 2600 |18 BBF Shny 393 Z | FEZ#H 1:03:32_ | 10km# F40~545% 109 297 109




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
1090 2604 |PTA EFHR B474Y 373 %X | ER# 10kmZ F-40~ 545 110 298 110
1091 2142 |8A EHF ZRX¥ #0720 X | ER# 10km & F E % ~ 307% 183 299 183
1092 2296 |ILiR H<H YRR ATS %Z | ER# 10km & F E % ~ 307% 184 300 184
1093 1179 |4k TE4T Hh wHak 5| FER 10km P F40~545% 323 793 323
1094 1210 |#6K #— ARXE TAAF 2| FER 10km B F40~ 545 324 794 324
1095 1512 | XF IE— AXAY DavAF E:] il 1:03:38 |10km&B F55m% LA E 67 795 67
1096 1295 |BE #HAX JOE XREY B | RE#A 1:03:45 | 10km 5 F40~545% 325 796 325
1097 1138 | RE Fii 99:1\5 ETX 5 | =m# 1:03:46 | 10km % F40~545% 326 797 326
1098 53 |{FiE EFH ALY ETF E:] HEHE 1:03:50 | 10km B FE#% ~395% 405 798 405
1099 2645 |\ BT XVYY5 bxa Z | EFR#M 1:03:54 | 10km& F40~545% 111 301 111
1100 2009 |38 # T38= VAXH Z | EF#M 1:03:57 | 10km&E FE#~ 395 185 302 185
1101 1299 |n'why- 44 NyHy— 349 E:] REH 1:03:57 | 10km 5 F40~54i% 327 799 327
1102 2165 |rif% Imid BT E) X7k % | FER 1:0401 |10kmEX F 45 ~395% | 186 303 186
1103 2311 |EH i EPZ V.4 X | ER# 1:04:02 | 10km#& FE4% ~ 395% 187 304 187
1104 2505 |PBAE M&ET %y a%o % | FES 1:04:02 | 10kmZ F40~548% 112 305 112
1105 2069 |4EF THF HPI5 FEa Z | EFR#M 1:04:04 | 10kmE FE#~ 395 188 306 188
1106 2115 [F0O BAXF YHJF 232 Z | EF#M 1:04:08 | 10km&X FE#~ 395 189 307 189
1107 2257 |BiEH #F <I4 TV x FIIE 1:04:10 | 10km&Z F &4~ 395% 190 308 190
1108 218 |&& R YHER THIAS B | RE#A 1:04:12 | 10kmBFHH~395% 406 800 406
1109 2539 |/hAE % 55 HhRAS % | BFR 1:04:12 | 10km& F40~545% 113 309 113
1110 1077 |/NVER BEER AAYIS AYRY B | #E)E [ 1:0413 |10kmBF40~545% 328 801 328
1111 1296 |3EF B3 /76T XYY 5 | ®mEm# 1:04:14 | 10km 3 F40~545% 329 802 329
1112 1336 |BEIR HA V95 XYL 3 | HEm# 1:04:16 | 10km B F40~545% 330 803 330
1113 394 |E@ #=8 N =1 5| W 1:04:17 | 10km B F &1~ 395% 407 804 407
1114 2546 | Bl F0E hyvw HR3 % | HEE#H 1:04:18 | 10km& F40~548% 114 310 114
1115 2254 |fmME @HE 4% 72 S BRHD 1:04:20 | 10km& F 1%~ 39i% 191 311 191
1116 2562 |mfh FRE ==l =] %Z | ER# 1:04:22 | 10km& F40~545% 115 312 115
1117 460 |¥AK B XVE Lagnd 5 | ®mEm# 1:04:26 | 10km B FE# ~395% 408 805 408
1118 2251 |#)Il F& INHT FFE Z | FEER 1:04:29 | 10kmE FE#~ 395 192 313 192
1119 2614 |kt AEF FH4 Y33 % | EF# 1:04:30 | 10km& F40~545% 116 314 116
1120 2322 |0 WEF 78X 2% % | #FNE | 10435 [10kmEFEK~395 193 315 193
1121 2576 |BR.E FF YHYT HX2 x BER 1:04:41 | 10km& F40~54i% 17 316 117
1122 1286 |l & Fhv< EOY £ FER 1:04:41 | 10km B F40~545% 331 806 331
1123 2253 [3R)I| BEE RIHT FHS Z | EFR#M 1:04:42 | 10kmE FE#~ 395 194 317 194
1124 1579 |41l 3 SFUHT v 3 | HEm# 1:04:43 | 10kmB 558 LA E 68 807 68
1125 1553 |#BEE —if Y HZXHt 3 | Hm# 1:04:46 | 10km B FE5RELLE 69 808 69
1126 2217 |9 &KF =7 3Ya Z | #ENE | 10446 [10kmEZFEE~395% | 195 318 195
1127 2241 |18® =FF 2927 342 x | FER 1:04:46 | 10km#& FE4% ~ 394% 196 319 196
1128 329 |WE &R Yy% amay 5 FER 1:04:47 | 10km B FEH ~ 395 409 809 409
1129 2647 |kE T SXAY¥ Qs Z | EFR#M 1:04:48 | 10km& F40~545% 118 320 118
1130 324 |FE hE 8% IHFR 3 | HEm# 1:04:51 | 10km B F 1~ 394% 410 810 410
1131 212 |[#EAR BX Yo% oY 3 | Hm# 1:04:52 | 10km B FHH~ 395 411 811 411
1132 2266 |=iH HF S5 /Y3 % | FER 1:04:54 | 10km&Z FE#~395% 197 321 197
1133 2285 |#HA HF EYEL Yo X | ER# 1:04:56 | 10km#& FE4% ~ 394% 198 322 198
1134 2112 |7ERE H HAbY SYE %Z | ER# 1:04:57 | 10kmE FE#~395% 199 323 199
1135 2092 |AH #5% *L5 SFIL Z | EFR# 1:04:58 | 10km&X F &4~ 395% 200 324 200
1136 2042 |H% B 95/ AJS Z | EF#M 1:05:00 | 10km& FE#~ 395 201 325 201
1137 2715 |#E BEF LZHS SF2 % | EF# 1:05:02 | 10km& #5655 LAE 7 326 7
1138 407 |RE H NSE HhXF B | RE# 1:05:07 | 10km B FE#~395% 412 812 412
1139 1159 | H#k BR HAbY T E:] FER 1:05:17 | 10km 5 F40~545% 332 813 332
1140 2176 |E HEH BLT FIT x| FER 1:05:25 | 10km&E FE#~395% 202 327 202
1141 340 |FIFE EF | w =1 5 | ®mEm# 1:05:29 | 10km B F &1 ~395% 413 814 413
1142 2642 |EAX 133 E N Z | EF#M 1:05:36 | 10km& F40~545% 119 328 119
1143 2010 |HE R¥EF 713y Fha x FER 1:05:37 | 10km&Z F &4~ 395% 203 329 203
1144 2059 |Ba4 Hkt A04L5 EEI %X | ER# 1:05:37 | 10km& F & #~395% 204 330 204
1145 1342 |2% 2 w/ FIY 5 | =Em# 1:05:38 | 10km % F40~545% 333 815 333
1146 113 |%E BR HYNS IHTE 2| BFR 1:05:44 | 10km B F B4k ~30% 414 816 414
1147 2072 |fngE HE hbH =3 Z | EFR# 1:05:46 | 10km&X F &4~ 395% 205 331 205
1148 247 |E— % 2394F YbL B | #E)NE | 10547 |[10kmBFEHR~398 415 817 415
1149 2039 |4E%F F 9T/ 3y % | BFER 1:05:51 | 10km#x F &4 ~ 395 206 332 206
1150 1403 |58 fh— DEFR SuAF B | RE# 1:05:53 | 10km 5 F40~545% 334 818 334
1151 2587 |y BEF 7% _Uha x BER 1:05:56 | 10km& F40~54i% 120 333 120
1152 2084 |tk BE HINE YT %Z | ER# 1:05:57 | 10km& F &4~ 395% 207 334 207
1153 2212 |F FAF =¥ hE2 Z | #FIE | 1:06:08 [10kmEFEH~395 208 335 208
1154 382 |F% B =7 v3vy B | HRH 1:06:09 | 10km B F & ~395% 416 819 416
1155 2263 |#l ST Y¥YT 73 x BB 1:06:12 | 10km& FE1% ~39i% 209 336 209
1156 219 |R%E 8 U IR B | HENE [ 10617 |[10kmBFER~395% 417 820 417
1157 1370 |&48 Ih EbNY AU 5 | =Em# 1:06:17 | 10km 3 F40~543% 335 821 335
1158 2583 |HE® BAF 4+ EAa x FER 1:06:20 [10kmZ F40~ 545 121 337 121
1159 132 |&M@ #E— HERE S AF 5 | ®mEm# 1:06:27 | 10km B F & ~395% 418 822 418
1160 2180 |itA BEF YUEN 40 Z | EF#M 1:06:29 | 10km& FE#~ 395 210 338 210
1161 2108 |fH% BF v/ bES x R 1:06:30 | 10km& F &4~ 395% 211 339 211
1162 2118 |{EAR) %% $o% Ik %X | EFR# 1:06:30 | 10km& F &4~ 395% 212 340 212
1163 2710 [k #F FS¥ ko x | FER 1:06:31 | 10km& F55% LA E 8 341 8
1164 2192 [&Ek % bSFH bES Z | FWE 1:06:31 | 10km& FE#~395% 213 342 213
1165 2146 |8A HETF AXF a3 Z | EFR# 1:06:32 | 10km& FE#~ 395 214 343 214
1166 2187 |EHE XF tox F¥a Z | EF#M 1:06:37 | 10km&X FE#~ 395 215 344 215
1167 2086 |)IIRX HEEF HhI%E =Y % FIE 1:06:42 | 10km& F B4~ 395% 216 345 216
1168 2023 |WE% g A4V/ 1% % | FER 1:06:44 | 10km&Z FE#~395% 217 346 217
1169 2134 |EH g RA/ 7X % | BFR 1:06:45 | 10km#& F 4% ~ 394% 218 347 218
1170 192 |/E HE ax¥ Savd E:] BER 1:06:45 | 10km B F &1 ~395% 419 823 419
1171 2706 [#H ttd ¥4 hES Z | FEER 1:06:47 | 10km & F555% LAE 9 348 9
1172 2158 |&=i2 £ET S#Y _STa Z | FEE 1:06:54 | 10km& FE#~ 395 219 349 219
1173 2705 |/MR UAF IYHh4 EOa % | FER 1:06:56 [ 10km &K F558%LAE 10 350 10
1174 2052 | X% *Y A4/ <Y % | BFR 1:07:04 | 10km&Z FE#~395% 220 351 220
1175 2300 |HH F&F ILHE FIb x | FER 1:07:04 | 10km#& FE4% ~ 395% 221 352 221
1176 2271 |8l Hxe SFYAD TX %Z | ER# 1:07:08 | 10kmE FE#~395% 222 353 222
1177 2137 |#l BE A¥¥¥ I3 Z | @WFNE | 10710 [10kmEFEHHK~395 223 354 223
1178 183 |IBF & 8% H4 3 | HEm# 1:07:11 | 10km B F B4~ 394% 420 824 420
1179 2578 |AA BA% YHEL THS % | FER 1:07:12 | 10km#x F40~545% 122 355 122
1180 169 [ ZEF| 9AH ETRY B | RE# 1:07:12 | 10km B FE#~395% 421 825 421
1181 2529 [K)I| itk #AAHT RS X | ER# 1:07:14 | 10km& F40~545% 123 356 123
1182 2605 |Md HETF £+H I3 % | BFR 1:07:15 [10km& F40~548% 124 357 124
1183 1515 | KH8 B AANY ALH B | BFR 1:07:24 | 10kmB 555 LAE 70 826 70
1184 2022 |B¢ EEF 4V _SH¥2 Z | EFE#M 1:07:27 | 10kmE FE#~ 395 224 358 224
1185 281 | AR BELAY |24 vREOLFY 3 | Hm# 1:07:34 | 10kmBFHH~ 395 422 827 422
1186 2053 | K#EH BE AATE LS %X | ER# 1:07:34 | 10km&X FE#~ 395 225 359 225
1187 1262 |Ek % bSFH FaL 5 | FER 1:07:36 | 10km 3 F40~545% 336 828 336
1188 2527 [iTus $is IHy o3 x| FEZ 1:07:45 | 10km# F40~545% 125 360 125




BB | L—RNo K& EHME R | FEiFh X5 RoMES | BFERPNEST | ZFERPIIESRT | BFR IS | ZF RO IER
1189 2701 |iTH EEF I 310 = BER 10km & F555% LA E 11 361 11
1190 1357 | =48 3esh SYnY Aven B | mEng 10km B F40~54% 337 829 337
1191 2073 |fngE #F Ak a3 X | EZR# 10km & F E % ~ 307% 226 362 226
1192 104 |BE {88 #0450y 5| Hm#p 10km B F & # ~395% 423 830 423
1193 2284 |#%E BFE YR ah Z | EF#M 10kmZ F 1% ~ 397 227 363 227
1194 2001 |HAR %3 TAx 5h % | FER 10km &K F 48 ~ 393k 228 364 228
1195 238 |4 HR N TITE B | RE#A 10km P F E 4% ~ 395% 424 831 424
1196 1320 |Ftis #5683 ESTY b TE 5 | FER 10km 5B F40~ 545 338 832 338
1197 2572 |HHE BhF Y4k EOa x| FER 10kmZX F40~545% 126 365 126
1198 2315 |8 M7 78+ HhZXa Z | EFR#M 10km#&Z F 245 ~ 397 229 366 229
1199 2020 |BR #HTE EOZA M=) Z | BFR 10kmZ F 1% ~ 397 230 367 230
1200 2070 [AiT &F HBT 7X2 % | FER 10km &K F 48 ~ 393k 231 368 231
1201 2 BEAR BEAHD F7Ax Yaysan B | #FIR 10km P F E 4% ~ 395% 425 833 425
1202 2599 |St8 X BhINY XY X | ER# 10kmZ F-40~ 545 127 369 127
1203 302 | —i Br9F HAED E:] HEHE 10km 53 F E % ~ 307% 426 834 426
1204 2551 _[pmili & h¥T 3h % | B/FR 10km& F40~54%% 128 370 128
1205 518 | IITF #F YRUE aond 2| FER 10km B F E 1% ~ 395 427 835 421
1206 2232 |iEM #$FF NIHE Yo % | EZ# 10km & F &8 ~ 39i% 232 371 232
1207 178 |H%E H—8 s % fr =) B | RE#A 10km B FEHIL~305% | 428 836 428
1208 1396 |HMH {817 ENZ =Rt S 5 | FER 10km 5B F40~ 545 339 837 339
1209 120 |B$E S8 V8 XY/ 5 BER 10km 53 F E % ~ 307% 429 838 429
1210 2531 | K& Zm A3 IH x FER 10km%& F40~54i% 129 372 129
1211 2161 |58 #F BhNY 43 Z | EF#M 10kmZ F 1% ~ 397 233 373 233
1212 1321 |F BB ESYY ¥3/= E:] REH 10km 5 F40~54i% 340 839 340
1213 32 |BH# W 44 =3k | B5FE 10km P F E 4% ~ 395% 430 840 430
1214 533 |t#A RE 3295 AVEa 5 | =m# 10km B F B 4% ~ 395% 431 841 431
1215 2090 |40 EEE X585F A3 x| FER 10km & F E % ~ 397% 234 374 234
1216 1183 | FHIE 4% LEYE e03d 5 | ®mEm# 10km P F40~545% 341 842 341
1217 426 |BRIt iR 204 23 3 | ZHR 10km B F E 1 ~ 39i% 432 843 432
1218 2302 |iifk 8 YIEY 34 & R 10km & F 18 ~ 39i% 235 375 235
1219 419 |FEE EH Eoy 7424 B | RE#A 10km P F E 4% ~ 395% 433 844 433
1220 2507 |5 T|F 754 43 X | ER# 10kmZ F-40~ 545 130 376 130
1221 102 |%E —5 XY HZXA 5 HEHE 10km 53 F E % ~ 307k 434 845 434
1222 2038 | L% W% DI/ B Z | HAE 10km#&Z F 245 ~ 397 236 3717 236
1223 2256 |BiS KIEF XIVI A%a % | HF# 10kmZ F 1% ~ 397 237 378 237
1224 2280 |HWE @B IR a4 & | Em# 10km & F 1 ~ 393 238 379 238
1225 1297 |HA HiE JEh FVED 5| FER 10km 3 F40~54i% 342 846 342
1226 2032 |%EtE PAF 4325 bE2 X | ER# 10km & F E % ~ 307% 239 380 239
1227 2218 [ B%F X% 133 %Z | ER# 10kmZ&Z F 245 ~ 395% 240 381 240
1228 2065 |ER 5T E A= X | EZ# 10kmZ F 245 ~ 397% 241 382 241
1229 2225 |iBA BET NTER X5 %z | #mEIg 10kmZ FE 1% ~ 397 242 383 242
1230 165 | Tk #ES I8y syax 35| FER 10km B F 1 ~ 395% 435 847 435
1231 1385 [IiA & YIEL HhY B | FER 10km 3 F40~54i% 343 848 343
1232 184 |RF & 83 BY 5 | #RNR 10km 5B F E % ~ 307% 436 849 436
1233 473 |#935 RA KAVANEE ] E:] HEHE 10km 53 F E 4% ~ 307% 437 850 437
1234 2199 |hE %8 FTHIUR R4 X | EZ# 10kmZ F 245 ~ 397% 243 384 243
1235 2316 |0 BT 254 A *33 Z | EF#M 10kmZ FE 1% ~ 397 244 385 244
1236 2526 |i5:% ERF AT FED x R 10km & F40~545% 131 386 131
1237 2514 |BME XM A4 3% % | FER 10kmZX F-40~ 545 132 387 132
1238 141 |l 4y HIFS LarRiy 5 | =Em# 10km 5B F E % ~ 307% 438 851 438
1239 2011 A4Ih U3 x| FER 10kmZ&Z F 245 ~ 397% 245 388 245
1240 2136 RE¥EL a0 Z | EFR# 10kmZ F 245 ~ 397% 246 389 246
1241 2095 28 A2 Z | EF#M 10kmZ F 1% ~ 397 247 390 247
1242 2709 ByAH TA2 % | FER 10km& F55ELLE 12 391 12
1243 2554 *UF ERS %X | ER# 10kmZ F-40~ 545 133 392 133
1244 2269 SF/ ERS X | ER# 10km & F E % ~ 307% 248 393 248
1245 2247 290 93 %Z | ER# 10kmZ&Z F 245 ~ 397% 249 394 249
1246 2111 HAbH %as Z | EFR# 10kmZ F 245 ~ 397% 250 395 250
1247 2237 ESHT 43 Z | EF#M 10kmZ F 1% ~ 397 251 396 251
1248 420 EOSY ZHax 3 | Hm# 10km B F 1 ~ 395% 439 852 439
1249 2188 bov2 3k %X | ER# 10kmE FEHIL~305% | 252 397 252
1250 2585 DY it X | ER# 10kmZ F40~ 545 134 398 134
1251 2318 748+ E0a x| FER 10kmZ&Z F 245 ~ 397% 253 399 253
1252 2127 $InE IV % | FER 10kmZ F 245 ~ 397% 254 400 254
1253 2543 | hT¥= 42 Z | FEE 10kmZ F40~ 54 135 401 135
1254 1054 |BER =F4 AT SHA E:] REH 10km 58 F40~54i% 344 853 344
1255 2644 |#NE TR Ut HhXT %X | EFR# 10kmZ F-40~ 545 136 402 136
1256 2711 %0 #F J9F Fava % | ER# 10kmZ F558% AL 13 403 13
1257 2013 [{#2 #F 447 Yara x| FER 10kmZ&Z F 245 ~ 397% 255 404 255
1258 2103 |#%ME BF J4 #ha Z | EFR# 10kmZ F 245 ~ 397% 256 405 256
1259 2034 | A =TH A)Y7 $F/ % | wEIg 10kmZ F 1% ~ 397 257 406 257
1260 326 |MH EF ALS a9 3 | Hm# 10km P F E 1% ~ 397 440 854 440
1261 2634 |t8H @E 2948 a3 %X | EFR# 10kmZ F-40~ 545 137 407 137
1262 2030 |fE#h Fish A4F3ay hAY S BRHD 10kmZ F B 4% ~ 395% 258 408 258
1263 1041 | 5B ALY 3LTX E:] HRHE 10km B F40~54% 345 855 345
1264 2239 |TH BAF ESZY FHa Z | FEER 10kmZ F 245 ~ 397% 259 409 259
1265 2310 |#HME A7 EDZ Al == % | wEIg 10kmZ FE 1% ~ 397 260 410 260
1266 1584 |WIE FH YE hnd E:] R 1:15:29 |10km B F55% LAE 7 856 Al
1267 2191 |EH F#RF FS44 FIo % | BFER 1:15:40 |10km&Z FEH~398% | 261 411 261
1268 2096 |FR TR YN £ X | ER# 1:15:53 | 10km#& F 4% ~ 394% 262 412 262
1269 2214 |FE TR =VHD Fa %Z | ER# 1:15:56 | 10km&Z F &4~ 395% 263 413 263
1270 2016 | F)Il_#5F A¥HhD /73 Z | EFR# 1:16:02 | 10km&E FE#~ 395 264 414 264
1271 2717 |BA H¥F J¥EL 3% Z | FEE 1:16:12 | 10kmE F558 LAE 14 415 14
1272 261 |86k WE AX¥ hEED B | FE8 1:16:14 | 10km B F &1~ 395% 441 857 441
1273 2718 [Bll BB D¥Yyv was % | @ENE | 1:16:29 [10kmZ F555ELLL 15 416 15
1274 527 |iWA HEA YZEF 23k 5 | =Em# 1:17:00 | 10km B FE1% ~395% 442 858 442
1275 2287 [ILN BEEA3E YIUF %Az %Z | ER# 1:17:27 | 10kmE FE#~ 395 265 417 265
1276 77 |EBE Bt IVEY BhY EE 1:17:57 | 10km B F & ~395% 443 859 443
1277 2067 _|AY +U—X Ay #Y—X Z | EFE#M 1:21:14 | 10kmE FEH~ 395 266 418 266
1278 1266 |d)il ) FTHhHED 7Y E:] R 1:21:50 | 10km 5 F40~54i% 346 860 346
1279 464 |IME | yia YRV B | RE# 1:27:14 | 10km B FE#K~395% 444 861 444
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